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Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



During my vist to Cuttack I participated in the birthday celebration of the late Justice Harthar Mahapatra. I
went there at the mvitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation. had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital. Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
gpeech the youngsters crowding around put forth many questions.

The first question was. 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said. 'Four books i my life have been very close to my heart. I cherish treading them. The first 1s Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the

human body a mechanical system it is a very intelligant on with a most intricate and sensitive teedback
system. The second book. one I venerate, is Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course, a
constant companion.’

Sub questions

Question Number : 1 Question Id : 6863405153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative the book 'Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634020401. 1
68634020402. 2
68634020403. 3
68634020404. 4

Question Number : 2 Question Id : 6863405154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel

3. Justice Harthar Mahapatra
4. Lillian Eichler Watson

Options :

68634020405. 1
68634020406. 2
68634020407. 3
68634020408. 4

Question Number : 3 Question Id : 6863405155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklairal

2

. The Holy Quran
3. Light from many lamps

4. Man the unknovwn

Options :

68634020409. 1
68634020410. 2
68634020411. 3
68634020412. 4

Question Number : 4 Question Id : 6863405156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that is an antonym to the word 'Conceal'
1. Ailment
2. Illuminate
3. Revelation
4. Sensitive
Options :

68634020413. 1
68634020414. 2



68634020415. 3
68634020416. 4

Question Number : 5 Question Id : 6863405157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."
1. Highlight
2. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634020417. 1
68634020418. 2
68634020419. 3
68634020420. 4

Question Id : 6863405152 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

During my vist to Cuttack I participated in the birthday celebration of the late Justice Harihar Mahapatra, I
went there at the invitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation, had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital, Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
speech the youngsters crowding around put forth many questions.

The first question was, 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said. 'Four books in my life have been very close to my heart. I cherish treading them. The first is Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular., children who dream of becoming doctors should read the book. They will learn that the
human body a mechanical system it 1s a very intelligant on with a most intricate and sensitive feedback
system. The second book. one I venerate, 1s Tiruvalluvar's Thirukkural, which provides an excellent code of
lite. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course. a
constant companion.'

Sub questions

Question Number : 1 Question Id : 6863405153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative the book 'Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634020401. 1
68634020402. 2
68634020403. 3
68634020404. 4

Question Number : 2 Question Id : 6863405154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel
3. Justice Harihar Mahapatra

4. Lillian Eichler Watson

Options :

68634020405. 1
68634020406. 2
68634020407. 3
68634020408. 4

Question Number : 3 Question Id : 6863405155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklaaral

| ]

. The Holy Quran
3. Light from many lamps

4. Man the unknown

Options :



68634020409. 1
68634020410. 2
68634020411. 3
68634020412. 4

Question Number : 4 Question Id : 6863405156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find a word from the passage that 1s an antonym to the word 'Conceal'

1. Ailment

[

. Illuminate
3. Revelation
4. Sensitive

Options :

68634020413. 1
68634020414. 2
68634020415. 3
68634020416. 4

Question Number : 5 Question Id : 6863405157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."
1. Highlight
2. Multi-pronged
3. Invaluable

4. Intricate

Options :

68634020417. 1
68634020418. 2
68634020419. 3
68634020420. 4

Question Id : 6863405152 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



During my vist to Cuttack I participated in the birthday celebration of the late Justice Harthar Mahapatra. I
went there at the mvitation of justice Ranganath Mishra. For me, it was a revelation. how the independence
movement. the first vision for the nation. had created the larger-than-life figure of Justice Harthar Mahapatra.
He lived to the age of ninety-two and established Cuttack Eye Hospital. Utkal University and above all
organized multi-pronged efforts to remove poverty. My biography in Oriya was released. At the end of my
gpeech the youngsters crowding around put forth many questions.

The first question was. 'Sir. tells us which are your favourite books. that you loved and which have shaped
your mind?'

I said. 'Four books i my life have been very close to my heart. I cherish treading them. The first 1s Man the
Unknown by Dr Alexis Carrel. a doctor turned-philosopher and a Nobel laureate. This book highlights how the
mind and body both have to be treated in an ailment as the two are integrated. You cannot treat one and ignore
the other. In Particular, children who dream of becoming doctors should read the book. They will learn that the

human body a mechanical system it is a very intelligant on with a most intricate and sensitive teedback
system. The second book. one I venerate, is Tiruvalluvar's Thirukkural, which provides an excellent code of
life. The third Light from Many Lamps by Lillian Eichler Watson which has touched me deeply. It illuminates
how we live and has been an invaluable guide to me for fifty years. And the Holy Quran is. of course, a
constant companion.’

Sub questions

Question Number : 1 Question Id : 6863405153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternative the book 'Man the unknown' highlights that the mind and the
body are to be equally trested in a ailment as they are integrated. Replace the underlined word from a suitable
synonym given below.

1. Collaborated
2. Removed
3. Disintegrated
4. Separated

Options :

68634020401. 1
68634020402. 2
68634020403. 3
68634020404. 4

Question Number : 2 Question Id : 6863405154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the best option from the given alternative. The author participated in the birthday celebration of

1. Justice Ranganath Mishra
2. Dr Alexis Carrel

3. Justice Harthar Mahapatra
4. Lillian Eichler Watson

Options :

68634020405. 1
68634020406. 2
68634020407. 3
68634020408. 4

Question Number : 3 Question Id : 6863405155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the best option from the given alternatives the book had a deep impact on the author.

1. Thiruklairal

2

. The Holy Quran
3. Light from many lamps

4. Man the unknovwn

Options :

68634020409. 1
68634020410. 2
68634020411. 3
68634020412. 4

Question Number : 4 Question Id : 6863405156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that is an antonym to the word 'Conceal'
1. Ailment
2. Illuminate
3. Revelation
4. Sensitive
Options :

68634020413. 1
68634020414. 2



68634020415. 3
68634020416. 4

Question Number : 5 Question Id : 6863405157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a word from the passage that means "very complicated."

1. Highlight
2. Multi-pronged
3. Invaluable
4. Intricate

Options :

68634020417. 1

68634020418. 2

68634020419. 3
68634020420. 4

Sub-Section Number : 2
Sub-Section Id : 686340155
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863405158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |[They should give me myv monev back or offer to exchange the shoes| II. |On balance
C. |l thought 1 understood 1t, but I realized it was more complicated I |On merit
D. [ would say that, . the best thing 1s to do nothing for the moment IV, |On reflection

Choose the most appropriate answer from the options given below:

1. A-TII. B-IV. C-II. D-I

[ B

CA-L B-1III, C-IT. D-IV
3. A-IL B-1, C-IV. D-II
4. A-I1, B-IV. C-II1. D-I

Options :

68634020421. 1
68634020422. 2
68634020423. 3
68634020424. 4



Question Number : 6 Question Id : 6863405158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I JAt the very least
B. |[They should give me my monev back or offer to exchange the shoes| II. |On balance
C. |l thought 1 understood it, but I realized it was more complicated III. |On merit
D. |l would say that, . the best thing 1s to do nothing for the moment IV |On reflection

Choose the most appropriate answer from the options given below:

1. A-TIIL. B-IV. C-II. D-I

| )

CA-L B-III. C-I1, D-IV
3. A-IIT, B-1., C-IV. D-II
4. A-I1, B-IV, C-III, D-I

Options :

68634020421. 1
68634020422. 2
68634020423. 3
68634020424. 4

Question Number : 6 Question Id : 6863405158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II Fill the blanks in List I with suitable prepositional phrases from List II

LISTI LISTII
A |l doubt if she got the job I At the very least
B. |They should give me myv moneyv back or offer to exchange the shoeg| II. |On balance
C. |l thought 1 understood it, but I realized it was more complicated II1. |On ment
D. [l would say that, . the best thing 1s to do nothing for the moment IV, |On reflection

Choose the most appropriate answer from the options given below:

1. A-IIIL, B-IV. C-II. D-I

[ )

CA-L B-IILL, C-IT, D-IV
3. A-IL B-1, C-IV. D-II
4. A-I1, B-IV. C-II1. D-I

Options :

68634020421. 1

68634020422. 2
68634020423. 3



68634020424. 4

Question Number : 7 Question Id : 6863405159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Accepting something unpleasant when one can not avoid of os:
1. Take a Bull by the horn
2. In the blues

3. Black and white

4, Bite the bullet

Options :

68634020425. 1
68634020426. 2
68634020427. 3
68634020428. 4

Question Number : 7 Question Id : 6863405159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Accepting something unpleasant when one can not avoid of os:
1. Take a Bull by the horn
2. In the blues
3. Black and white

4. Bite the bullet

Options :

68634020425. 1
68634020426. 2
68634020427. 3
68634020428. 4

Question Number : 7 Question Id : 6863405159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Accepting something unpleasant when one can not avoid of os:

1. Take a Bull by the horn

[

. In the blues

T

. Black and white

4. Bite the bullet

Options :

68634020425. 1
68634020426. 2
68634020427. 3
68634020428. 4

Question Number : 8 Question Id : 6863405160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Normally. a hair allowed to grow uncut will last from two to six year

B. These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinming still eludes researchers. but they know it 1s has
something to do with make sex harmone called androgens

m g m

Choose the most appropriate answer from the options given below:
1.D,C.A . B,E
2.B,C.D;AE
3. BB A0 D
4.E.B.C.D.A

Options :

68634020429. 1
68634020430. 2
68634020431. 3
68634020432. 4

Question Number : 8 Question Id : 6863405160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. Normally. a hair allowed to grow uncut will last from two to six year

B.

mEm

These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it in reduced to fuzz

. The exact genetic code that causes boldness and thinning still eludes researchers, but they know it is has
something to do with make sex harmone called androgens

Choose the most appropriate answer from the options given below:

1

5

3

4

A B

B, C,D,AE

E.B.A,C.D

E.B.C.D.A

Options :

68634020429. 1
68634020430. 2
68634020431. 3
68634020432. 4

Question Number : 8 Question Id : 6863405160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Normally. a hair allowed to grow uncut will last from two to six year

B.

uRvNe!

These harmones supress the activity of certain follicles on the scalp so that the life span of the hair that
grows from them is reduced

. But as boldness sets in. the hair in some of head falls out more often

. The overall effects is that hair in those places gets thinner and shorter until it m reduced to fuzz

. The exact genetic code that causes boldness and thinming still eludes researchers. but they know it 1s has
something to do with make sex harmone called androgens

Choose the most appropriate answer from the options given below:

1

-J

_1

.D.C.A.B.E

B C,DAE

D Befe D

:E,B,C,D, A

Options :

68634020429. 1
68634020430. 2
68634020431. 3
68634020432. 4



Question Number : 9 Question Id : 6863405161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

[

. My decision to buy an electric car was motivated by economic consideration

L¥%]

. My decision to buy an electric car was motivated by economical considerations
4. No correction

Options :

68634020433. 1

68634020434. 2

68634020435. 3
68634020436. 4

Question Number : 9 Question Id : 6863405161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

2

. My decision to buy an electric car was motivated by economic consideration

%]

. My decision to buy an electric car was motivated by economical considerations

4. No correction

Options :

68634020433. 1
68634020434. 2
68634020435. 3
68634020436. 4

Question Number : 9 Question Id : 6863405161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the options below this sentence should replace it to make it grammatically correct:

My decision for buying an electric car was motivated by economical consideration.

1. My decision for buying an electric car was motivated by economic consideration

b2

. My decision to buy an electric car was motivated by economic consideration

L¥%]

. My decision to buy an electric car was motivated by economical considerations
4. No correction

Options :

68634020433. 1
68634020434, 2
68634020435. 3
68634020436. 4

Question Number : 10 Question Id : 6863405162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An explosive for firing a bullet or a rocket is:
1. Putsch
2. Prosody
3. Propellant
4. Pulmonary
Options :
68634020437. 1
68634020438. 2

68634020439. 3
68634020440. 4

Question Number : 10 Question Id : 6863405162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
An explosive for firing a bullet or a rocket 1s:
1. Putsch
2. Prosody
3. Propellant

4. Pulmonary

Options :



68634020437. 1
68634020438. 2
68634020439. 3
68634020440. 4

Question Number : 10 Question Id : 6863405162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

An explosive for firing a bullet or a rocket 1s:

1. Putsch

[

. Prosody

%]

. Propellant
4. Pulmonary

Options :

68634020437. 1
68634020438. 2
68634020439. 3
68634020440. 4

Question Number : 11 Question Id : 6863405163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A certain sum fetched simple interest of 3200 at the rate of 6.25% per annum in 4 years. What is the sum?

1.213000

[

. 212800
3. 212500
4. 212000

Options :

68634020441. 1
68634020442. 2
68634020443. 3
68634020444. 4

Question Number : 11 Question Id : 6863405163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A certain sum fetched simple interest of 3200 at the rate of 6.25% per annum in 4 years. What is the sum?

1.213000

[

. 212800
3.%12500
4. 212000

Options :

68634020441. 1
68634020442. 2
68634020443. 3
68634020444. 4

Question Number : 11 Question Id : 6863405163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A certain sum fetched simple mnterest of 23200 at the rate of 6.25% per annum in 4 years. What 1s the sum?

1.313000

[

. 212800
3. 212500
4, 212000

Options :

68634020441. 1
68634020442. 2
68634020443. 3
68634020444. 4

Question Number : 12 Question Id : 6863405164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50

| B

. 80
3. 100
4. 150

Options :
68634020445. 1



68634020446. 2
68634020447. 3
68634020448. 4

Question Number : 12 Question Id : 6863405164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks. Find the maximum marks of the test.

1. 50
2. 80
3. 100
4. 150

Options :

68634020445. 1
68634020446. 2
68634020447. 3
68634020448. 4

Question Number : 12 Question Id : 6863405164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A candidate who gets 20% marks fails by 10 marks. Another candidate who gets 42% marks gets 12 marks
more than the minimum passing marks, Find the maximum marks of the test.

1. 50

| )

. 80
3. 100
4. 150

Options :

68634020445. 1
68634020446. 2
68634020447. 3
68634020448. 4

Question Number : 13 Question Id : 6863405165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. : 9 . : . .
If a man increases his speed to — times his usual speed, he reaches his office 24 minutes before the office
5

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

[

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634020449. 1
68634020450. 2
68634020451. 3
68634020452. 4

Question Number : 13 Question Id : 6863405165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. . 9 . . . .
If a man increases his speed to — times his usual speed. he reaches his office 24 minutes before the office

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

b2

. 52 minutes
3. 54 minutes

4. 55 minutes

Options :

68634020449. 1
68634020450. 2
68634020451. 3
68634020452. 4

Question Number : 13 Question Id : 6863405165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. : 9 . : . .
If a man increases his speed to — times his usual speed, he reaches his office 24 minutes before the office
J

time. Find the time taken by to reach his office with usual speed.

1. 50 minutes

|

. 52 minutes
3. 54 minutes
4. 55 minutes

Options :

68634020449. 1
68634020450. 2
68634020451. 3
68634020452. 4

Question Number : 14 Question Id : 6863405166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

43 | | %
The value of ==- 3+ i is

Options :

68634020453. 1
68634020454 2
68634020455. 3
68634020456. 4

Question Number : 14 Question Id : 6863405166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



43 | | 5
The value of -3+ il 1%

"
$
|
(=]
|
o | s

[
b
~1

4. 2.7

Options :

68634020453. 1
68634020454. 2
68634020455. 3
68634020456. 4

Question Number : 14 Question Id : 6863405166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

43 | i
The value of ==- 3+ i is

Options :

68634020453. 1
68634020454, 2
68634020455. 3
68634020456. 4

Question Number : 15 Question Id : 6863405167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a right circular cylinder a height 14em 1s increased in a sphere of radius 8cm then volume of the cylinder
b i)

(in.em”)- (use r==).

1. 110

| ]

220
3.440

4. 600

Options :

68634020457. 1
68634020458. 2
68634020459. 3
68634020460. 4

Question Number : 15 Question Id : 6863405167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If a right circular cylinder a height 14em 1s increased in a sphere of radius 8cm then volume of the cylinder

. b )
(in.ecm®)- (use 7 = =)

1. 110

2

. 220
3.440

4. 600

Options :

68634020457. 1
68634020458. 2
68634020459. 3
68634020460. 4

Question Number : 15 Question Id : 6863405167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If a right circular cylinder a height 14em 1s increased in a sphere of radius 8cm then volume of the cylinder
b i)

(in.em”)- (use r==).

1. 110

| ]

220
3.440

4. 600

Options :

68634020457. 1
68634020458. 2
68634020459. 3
68634020460. 4

Question Number : 16 Question Id : 6863405168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T | AA

Q0 O

TL|A | T

Qcx | 9

P

AA

L A

b

Options :

68634020461. 1
68634020462. 2
68634020463. 3
68634020464. 4

Question Number : 16 Question Id : 6863405168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T | AA

Q0 O

TL|A | T

Qcx | 9

P

AA

L A

b

Options :

68634020461. 1
68634020462. 2
68634020463. 3
68634020464. 4

Question Number : 16 Question Id : 6863405168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out which of the answer figures (1), (2), (3) and (4) completes the figure matrix:

AAA| T | AA

Q0 O

TL|A | T

Qcx | 9

P

AA

L A

b

Options :

68634020461. 1
68634020462. 2
68634020463. 3
68634020464. 4

Question Number : 17 Question Id : 6863405169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pointing to a photograph, Aman tells his friend. "she 1s the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece
4, Aunt
Options :
68634020465. 1
68634020466. 2

68634020467. 3
68634020468. 4

Question Number : 17 Question Id : 6863405169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph, Aman tells his friend. "she is the grand daughter of the elder brothers of my father.
"How is the girl in the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece
4, Aunt
Options :
68634020465. 1
68634020466. 2

68634020467. 3
68634020468. 4

Question Number : 17 Question Id : 6863405169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Pointing to a photograph. Aman tells his friend. "she 1s the grand daughter of the elder brothers of my father.
"How 1s the girl m the photograph related to Aman?

1. Sister
2. Maternal Aunt
3. Niece

4, Aunt



Options :

68634020465. 1
68634020466. 2
68634020467. 3
68634020468. 4

Question Number : 18 Question Id : 6863405170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11, 20, 38, 74 7

1. 146

| ]

. 154
3.128

4.136

Options :

68634020469.
68634020470.
68634020471.
68634020472.

AW N —

Question Number : 18 Question Id : 6863405170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What should come in place of the questions mark?

11,20, 38, 74 ?

1. 146

-

. 154
3.128

4.136

Options :

68634020469.
68634020470.
68634020471.
68634020472.

AW N —

Question Number : 18 Question Id : 6863405170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What should come in place of the questions mark?
11, 20, 38, 74 7

1. 146

| B

. 154
3.128

4. 136

Options :

68634020469. 1
68634020470. 2
68634020471. 3
68634020472. 4

Question Number : 19 Question Id : 6863405171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The giving statement is followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only criterion for promotion m MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
III. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Tand IT

[ )

.IT and 111

L#%]

. Only III
4. OnlyI

Options :

68634020473. 1
68634020474. 2
68634020475. 3
68634020476. 4

Question Number : 19 Question Id : 6863405171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The giving statement is followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only criterion for promotion m MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
III. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Iand II
2. I and III
3. Only III
4. OnlyI
Options :
68634020473. 1
68634020474. 2

68634020475. 3
68634020476. 4

Question Number : 19 Question Id : 6863405171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The giving statement 1s followed by three arguments. Decide which of the options is correct about the given
arguments.

Statements: Should seniority be only criterion for promotion in MNC's?
Arguments

I. Yes. otherwise seniors will feel humiliated
II. Yes, seniors are more experienced and must be rewarded
II1. No. it would be an injustice to those juniors who are more deserving and suitable for higher position

1.Tand II
2. MMand I
3. Only ITI
4. Only I
Options :
68634020473. 1
68634020474. 2

68634020475. 3
68634020476. 4



Question Number : 20 Question Id : 6863405172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

| S

. 7645954552
3. 7645954452
4, 8645054552
Options :
68634020477. 1
68634020478. 2

68634020479. 3
68634020480. 4

Question Number : 20 Question Id : 6863405172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

| B

. 7645054552
3. 7645954452
4, 8645954552
Options :
68634020477. 1
68634020478. 2

68634020479. 3
68634020480. 4

Question Number : 20 Question Id : 6863405172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If QUALITY is coded as 8313927, then GOVERNMENT is coded as:

1. 7645954551

| S

. 7645954552

3. 7645954452

4. 8645954552



Options :

68634020477. 1
68634020478. 2
68634020479. 3
68634020480. 4

Question Number : 21 Question Id : 6863405173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awarded Awarded in the service
A |Ms. Prabha Atre I | Public Affairs
B. MMr Kalvan Singh II. |Literature and Education
C. Mr. Radheyshvam Khemka 1T |Civil Service
D. |General Bipin Rawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III, C-IV. D-IT

| ]

CA-IV, B-1, C-III D-II
3. A-IV, B-1. C-I1, D-ITT
4. A-l. B-IV, C-II. D-III

Options :

68634020481. 1
68634020482. 2
68634020483. 3
68634020484. 4

Question Number : 21 Question Id : 6863405173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awarded Awarded in the service
A Ms. Prabha Atre I | Public Affairs
B. PMr Kalvan Singh II. |[Literature and Education
C. Mr. Radheyshvam Khemka III. |Civil Service
D. |General Bipin Fawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III. C-IV, D-II

[ ]

CA-IV, B-1, C-III. D-II
3. A-IV, B-1. C-I1, D-III
4. A-I. B-IV, C-I1, D-ITT

Options :

68634020481. 1
68634020482. 2
68634020483. 3
68634020484. 4

Question Number : 21 Question Id : 6863405173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Name of Padma Vibhushan Awarded Awarded in the service
A |Ms. Prabha Atre I | Public Affairs
B. MMr Kalvan Singh II. |Literature and Education
C. Mr. Radheyshvam Khemka M1 |Civil Service
D. |General Bipin Rawat IV, |Art

Choose the most appropriate answer from the options given below:

1. A-I. B-III, C-IV. D-IT

| ]

CA-IV, B-1, C-IIL D-II
3. A-IV, B-1. C-I1, D-ITT
4. A-l. B-IV, C-II. D-III

Options :

68634020481. 1
68634020482. 2
68634020483. 3
68634020484. 4



Question Number : 22 Question Id : 6863405174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite 'Aryabhatta’ is

1. 7 June, 1979

2

.19 April, 1975

[F%]

.19 June, 1953

e

.07 April, 1981

Options :

68634020485. 1
68634020486. 2
68634020487. 3
68634020488. 4

Question Number : 22 Question Id : 6863405174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite 'Aryabhatta’ is

1. 7 June, 1979

[

.19 Apnil, 1975
3. 19 June, 1953
4. 07 April, 1981

Options :

68634020485. 1
68634020486. 2
68634020487. 3
68634020488. 4

Question Number : 22 Question Id : 6863405174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Date of launching of satellite 'Aryabhatta’ 1s

1. 7 June, 1979

[

.19 Apnil, 1975

LFN]

. 19 June, 1953

e

.07 April, 1981



Options :

68634020485. 1
68634020486. 2
68634020487. 3
68634020488. 4

Question Number : 23 Question Id : 6863405175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Due to disecase' Pneumonia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease Diptheria'
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement IT are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I is incorrect but Statement II 1s correct
Options :
68634020489. 1
68634020490. 2

68634020491. 3
68634020492. 4

Question Number : 23 Question Id : 6863405175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease Diptheria'
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement II are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II is incorrect
4. Statement I is incorrect but Statement II is correct
Options :

68634020489. 1
68634020490. 2



68634020491. 3
68634020492. 4

Question Number : 23 Question Id : 6863405175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I: Due to disease' Pneumonia'. lungs of the human body are affected.
Statement II: Lungs of human body are also affected due to disease Diptheria’
In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct but Statement II 1s incorrect
4. Statement I is incorrect but Statement IT 1s correct
Options :
68634020489. 1
68634020490. 2

68634020491. 3
68634020492. 4

Question Number : 24 Question Id : 6863405176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas is celebrated on which day?

1. 12 March

b2

. 24 June
3. 18 May
4, 20 April

Options :

68634020493. 1
68634020494, 2
68634020495. 3
68634020496. 4

Question Number : 24 Question Id : 6863405176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Passport Sewa Diwas 1s celebrated on which day?

1. 12 March

[

. 24 June
3. 18 May
4. 20 April
Options :
68634020493. 1
68634020494. 2

68634020495. 3
68634020496. 4

Question Number : 24 Question Id : 6863405176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Passport Sewa Diwas 1s celebrated on which day?

1. 12 March

[

. 24 June
3. 18 May
4. 20 April

Options :

68634020493. 1
68634020494. 2
68634020495. 3
68634020496. 4

Question Number : 25 Question Id : 6863405177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210.000 to 325.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present 35.000 to 215.000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. A and B only

-

.A. Cand D only
3. A.Band C only

4. A. B. Cand D only

Options :

68634020497. 1
68634020498. 2
68634020499. 3
68634020500. 4

Question Number : 25 Question Id : 6863405177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 710,000 to ¥25.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present ¥5.000 to ¥15.000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects 1ts own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:

1. A and B only

| B

.A. Cand D only
3.A B and C only
4. A.B. Cand D only

Options :

68634020497. 1
68634020498. 2
68634020499. 3
68634020500. 4



Question Number : 25 Question Id : 6863405177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. The election commission of India has decided to increase the amount of security for Lok Sabha
candidates from the present 210,000 to ¥25.000

B. The election commission of India has decided to increase the amount of security for Vidhan Sabha
candidate from the present 35.000 to 215.000

C. As per election commission, the candidate who secure less than one-sixth of the valid votes caste lose
their security deposit in an election

D. The house of the people elects its own presiding officers. called speaker and the depty speaker

Choose the correct answer from the options given below:
1. A and B only
2. A CandD only
3. A.Band C only

4. A.B. CandD only

Options :

68634020497. 1
68634020498. 2
68634020499. 3
68634020500. 4

Part B: Odia

Section Id : 686340104
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 63
Number of Questions to be attempted : 63

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340156
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 6863405178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020501. 1
68634020502. 2
68634020503. 3
68634020504. 4

Question Number : 26 Question Id : 6863405178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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Options :

68634020501. 1
68634020502. 2
68634020503. 3
68634020504. 4

Question Number : 26 Question Id : 6863405178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'‘Ban @d @199 AIgwlaE!?

1. FaqEe 9Id

| ]

. AR QULDAILL

LFS]

. AIQEFIES g

4. QLRI SlIRE°g

Options :

68634020501. 1
68634020502. 2
68634020503. 3
68634020504. 4

Question Number : 27 Question Id : 6863405179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. 6Geog FIae

Options :

68634020505. 1
68634020506. 2
68634020507. 3
68634020508. 4

Question Number : 27 Question Id : 6863405179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



661l g4 ¢l F1h'Q emelw @12

1. Quzliael el

-

. Q19614 QIS Qugl

L5 ]

. d6aga @l

4. 636og FIo

Options :

68634020505. 1
68634020506. 2
68634020507. 3
68634020508. 4

Question Number : 27 Question Id : 6863405179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
661l g4 ¢l F19R'Q emelw @17

1. Quzliael el

-J

. 19614 QIS Qugl

L]

. 46994 Q19

4. 636og FIo

Options :

68634020505. 1
68634020506. 2
68634020507. 3
68634020508. 4

Question Number : 28 Question Id : 6863405180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GlRlEEEs Slea Ll ﬁ‘ﬂ Hoa goldltl 1ag EG“&?Q@GI@ Ql 29Ie din FIFI?

1. 9894l

| S

. 999 98,
3. 0g S9ad

4. 695 AT IeIcee

Options :

68634020509. 1
68634020510. 2
68634020511. 3
68634020512. 4

Question Number : 28 Question Id : 6863405180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BURIGHIES Bleq Ll ‘;:1“?‘] oGl Yot f1agl E'&u"‘ée‘yq%lﬂlf&‘z 9l Il dim FIFIE?

1. 9894l

| ]

. 09 96
3.0Q @gad

4. 698 AT RIS

Options :

68634020509. 1
68634020510. 2
68634020511. 3
68634020512. 4

Question Number : 28 Question Id : 6863405180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GlRlEEEs Slea Ll ﬁ‘ﬂ Hoa goldltl 1ag EG“&?Q@GI@ Ql 29Ie din FIFI?

1. 9894l

| S

. 999 98,
3. 0g S9ad

4. 695 AT IeIcee

Options :

68634020509. 1
68634020510. 2
68634020511. 3
68634020512. 4

Question Number : 29 Question Id : 6863405181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gele8 GRIAIRYQl §6 goR FUg 6896 IR0 0ORINeR 956 geR?
1. 9191 99

2. sliglaio Q<]

3. QR@Yma QU4

4. 260@ GlAIQ QIg

Options :

68634020513. 1
68634020514. 2
68634020515.3
68634020516. 4

Question Number : 29 Question Id : 6863405181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gelen GRlIAIDYQl §6 gER FUg 6896 9p6 USRINeR 95T gL’
1. gigl 99

2. sliclaio ge]
3. @e@Tma Q4

4. A65F GlEI0 QUG

Options :

68634020513. 1
68634020514. 2
68634020515. 3
68634020516. 4

Question Number : 29 Question Id : 6863405181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gren GRIAIRYS §6 gEa FUg 6896 9g6 0RINeR 956 gEL?
1. 9191 999

2. sliglaio Q<]
3. Qe@Yna Q4

4. 260@ Gl QIT

Options :

68634020513. 1
68634020514. 2
68634020515.3
68634020516. 4

Question Number : 30 Question Id : 6863405182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Art is not merely moral, but anti oral.’ - € @@% @I2I9

1. @eligalia s41e

-

. 64l5aIq)

L5 ]

. 8.6.9. (Shaw)

4. IOIR 699G €16

Options :

68634020517. 1
68634020518. 2
68634020519. 3
68634020520. 4

Question Number : 30 Question Id : 6863405182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Art is not merely moral. but anti oral.' - % @@% /219

1. meligeim «4ie

2

. 69l5EIa

LS}

. @.@.9. (Shaw)

4. 919 698 €16

Options :

68634020517. 1
68634020518. 2
68634020519. 3
68634020520. 4

Question Number : 30 Question Id : 6863405182 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Art is not merely moral, but anti oral.’ - € @@% @I2I9

1. @eligalia s41e

-

. 64l5aIq)

L5 ]

. 8.6.9. (Shaw)

4. IOIR 699G €16

Options :

68634020517. 1
68634020518. 2
68634020519. 3
68634020520. 4

Question Number : 31 Question Id : 6863405183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Yual @it 9°dl gial F189IaBaeT 699 Alge desn PIRGe ERImEmI?

1. dISigeEa

[ S

. 2loE Tedm
j.age o

4. 3600 20T

Options :

68634020521. 1
68634020522. 2
68634020523. 3
68634020524. 4

Question Number : 31 Question Id : 6863405183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ymal @iy 9°dl @il FlenIaBaer 698 Flee Helee (Bl GRImEImI?

1. dIGiQeIEa

| ]

. 2o Tedm
j.2ea 9

4. B36EG AU

Options :

68634020521. 1
68634020522. 2
68634020523. 3
68634020524. 4

Question Number : 31 Question Id : 6863405183 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
4anl @igl 9°dl g9l F1eTIaBwE 6q% FI5G gelet 2RRS cZlmmi?

1. digiasiEs

-

. El9iE redm
3. aee 9

4. 3600 2gaIe

Options :

68634020521. 1
68634020522. 2
68634020523. 3
68634020524. 4

Question Number : 32 Question Id : 6863405184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'CRSIT 996 @ 0] 1Y F'4€1?

1. @41 Q1Y

-

. 2l)dl Q19

. @a Q19Y

L ¥ ]

4. @losl QY

Options :

68634020525. 1
68634020526. 2
68634020527. 3
68634020528. 4

Question Number : 32 Question Id : 6863405184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘GRS J8G Q 0K 1Y F'€1?

1. @41 Q1Y

-

. 2l)dl Q19

. @a Q19Y

L ¥ ]

4. @losl QY

Options :

68634020525. 1
68634020526. 2
68634020527. 3
68634020528. 4

Question Number : 32 Question Id : 6863405184 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'CRSIT 996 @ 0] 1Y F'4€1?

1. @41 Q1Y

-

. 2l)dl Q19

. @a Q19Y

L ¥ ]

4. @losl QY

Options :

68634020525. 1
68634020526. 2
68634020527. 3
68634020528. 4

Question Number : 33 Question Id : 6863405185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

95 9LEE @9 R 66 6aSIEe Jades A98e gewd 526 @4l

1. g5l Ge |

| S

. Qo1 Ge@|
3. geT F@B|
4. g2 G0

Options :

68634020529. 1
68634020530. 2
68634020531. 3
68634020532. 4

Question Number : 33 Question Id : 6863405185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



95 9LEE @9 R 66 6aSIEE Jades G98e Uewd 526 @4l

1. g5l Ge |

| S

. Qo1 Ge@|
3. Qg el
4. g2l G0
Options :
68634020529. 1
68634020530. 2

68634020531. 3
68634020532. 4

Question Number : 33 Question Id : 6863405185 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
95 Q9L6E 99 IR T80 6asIEe Jades G986 gewd 526 @4l

1. 956l Sa |

2

. Qo1 Gua |
3. AgeN IS
4, oI Ta |

Options :

68634020529. 1
68634020530. 2
68634020531. 3
68634020532. 4

Question Number : 34 Question Id : 6863405186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2IEIR QYI°6Q1 UG° UR V6RG 68 ZISRINE A2 A°YS Z6R?

1. ggaolqlal

| ]

. golmQIQ]
3. 99GQIQT

1. culoaalal

Options :

68634020533. 1
68634020534. 2
68634020535. 3
68634020536. 4

Question Number : 34 Question Id : 6863405186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2SR Y°6Q1 I8° TR V6RT 626 2ERINE A2 A°YS Z6R?

1. ggaciqlal

[ ]

. geleaial
3. 99e91eT

4. eRloagIal

Options :

68634020533. 1
68634020534. 2
68634020535.3
68634020536. 4

Question Number : 34 Question Id : 6863405186 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2IEIR QYI°6Q1 UG° UR V6RG 68 ZISRINE A2 A°YS Z6R?

1. ggaolqlal

| ]

. golmQIQ]
3. 99GQIQT

1. culoaalal

Options :

68634020533. 1
68634020534 2
68634020535. 3
68634020536. 4

Question Number : 35 Question Id : 6863405187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A% |Gl 6268 639199, 6969 929I6n AF6L e ORIQ SISl #22I631" - T 086 FI7Ia

1. % 4. 69@

[ ]

& 9. 2ea
3. 219 4. BRae

4. 210N

Options :

68634020537. 1
68634020538. 2
68634020539. 3
68634020540. 4

Question Number : 35 Question Id : 6863405187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'A% QIEI 6207 639199, 6062 9II16R A6 e TRIQ QIS 9223 1" - UE &6 QI8

—

R 98, 69@

-

.. Q. 24
3. 219. 9. BRaq

4, A179LGR

Options :

68634020537. 1
68634020538. 2
68634020539. 3
68634020540. 4

Question Number : 35 Question Id : 6863405187 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'A% QIEl 6208 632199, 6062 92916R AFEL e IRIA ISl #22I831" - UE 086 Q1218

—

NR. Q. 68@

-

.. 9. 209
3. 29, 9. GRae

4, A179LGR

Options :

68634020537. 1
68634020538. 2
68634020539. 3
68634020540. 4

Question Number : 36 Question Id : 6863405188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G019 6206 907 @8 9 aria §Ee f1ug 666N Aala §ew?

1. 6g¢1 RERG!

| ]

. FIESIERA
3. gamal
4. 69¢1 TBIFIE
Options :
68634020541. 1
68634020542. 2

68634020543. 3
68634020544. 4

Question Number : 36 Question Id : 6863405188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G019 6266 909 *9c 9 arIa gEe g 6615 Aala §ew?

1. 69F RERG!

| ]

. FIERIsa!
3. gaadl
4. 6g¢ GBIE

Options :

68634020541. 1
68634020542. 2
68634020543. 3
68634020544. 4

Question Number : 36 Question Id : 6863405188 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G019 6206 907 @8 9 aria §Ee f1ug 666N Aala §ew?

1. 6g¢1 RERG!

| ]

. FIESIERA
3. gamal
4. 69¢1 TBIFIE
Options :
68634020541. 1
68634020542. 2

68634020543. 3
68634020544. 4

Question Number : 37 Question Id : 6863405189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OISINSIE AT ER0 26 600 96 Fa G187

1. 298

| ]

QI
3. Qige

4. 299°3

Options :

68634020545. 1
68634020546. 2
68634020547. 3
68634020548. 4

Question Number : 37 Question Id : 6863405189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIBINSIE AININT ERe 26 600 96 Fa FIE7?

1. Qa8

| S

QIR
3.Qige

4. 296°3

Options :

68634020545. 1
68634020546. 2
68634020547. 3
68634020548. 4

Question Number : 37 Question Id : 6863405189 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RISINGIEA AT ER0 26 600 96 A0 G187

1. 298

| ]

QI
3.qige

4. 299°3

Options :

68634020545. 1
68634020546. 2
68634020547. 3
68634020548. 4

Question Number : 38 Question Id : 6863405190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AGRIF R FIFRR AeEs! @97

1. T6Rg 6QQ

| S

. ¢lge 6ea
3. gQEEIas 62@

1. Q106N 699

Options :

68634020549. 1
68634020550. 2
68634020551. 3
68634020552. 4

Question Number : 38 Question Id : 6863405190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT FFY FITRR APESI @97

1. @0ceg 699

[ S

. (lge 6ea
3. gQeTIas 69

4. 10R6SIR 699

Options :

68634020549. 1
68634020550. 2
68634020551. 3
68634020552. 4

Question Number : 38 Question Id : 6863405190 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AGRIF R FIFRR AeEs! @97

1. T6Rg 6QQ

| S

g2 62

3. gQEEIas 62@

1. Q106N 699

Options :

68634020549. 1
68634020550. 2
68634020551. 3
68634020552. 4

Question Number : 39 Question Id : 6863405191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

99 98 Q196 QEr 686 6RF6E 2GS E2IDER 31219 GUIF gealal &7

1. g @ sagae
2. 9°08 B 6. 9. 999
3. 919 6 69% AR
4. 6QUCNIR G FRRT samag]

Options :

68634020553 1

68634020554. 2

68634020555. 3
68634020556. 4

Question Number : 39 Question Id : 6863405191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



58 98 Q196 Q26C 689 62966 PSR 62IVZR 3 IS YAIF gealal &7
1. €1 8 s01G29
2. 9°aa B 6. 9. g4g
3. 9llg @ 69@ AR

4. 6QUEIIS B 2ENG samal

Options :

68634020553. 1
68634020554. 2
68634020555.3
68634020556. 4

Question Number : 39 Question Id : 6863405191 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@Q @F Qlat gl 666 696R ZIQe cglegmnl G gia Juia geaul @92

1. €1 8 s0iGaa

-

. 2°08 6 6. 5. 94g
3. 91 6 69 2R

4. 6l G 2end samald

Options :

68634020553. 1
68634020554. 2
68634020555. 3
68634020556. 4

Question Number : 40 Question Id : 6863405192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIZIR08 909 690 AFNER 6aalg F6e?

L. gldiw 9ol dawq gldlw & daw adis|

| ]

. 91899 94 sIeeq 18gS ¢ola dee adis|
3. glagS gola deeq §iNe @ola dew adia!

4. §199S gole SReg Fale gald aee adis|

Options :

68634020557. 1
68634020558. 2
68634020559. 3
68634020560. 4

Question Number : 40 Question Id : 6863405192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JIZINER 9998 690 AANER 6a5lg F69?

1. glQlw 9ula dawq Slelw e daw adis|

| ]

91899 €4 seeg 1age gola dew adis|
3. §19gS gola Req §INe GOld aer adis|

4. §1999 gole JFeg FIalR gaia dee adial

Options :

68634020557. 1
68634020558. 2
68634020559. 3
68634020560. 4

Question Number : 40 Question Id : 6863405192 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FIZIR08 909 690 AFNER 6aalg F6e?

L. gldiw 9ol dawq gldlw & daw adis|

| ]

. 91899 94 sIeeq 18gS ¢ola dee adis|
3. 91999 $o1e 999 FNIR §O1a de adis |

4. §199S gole SReg Fale gald aee adis|

Options :

68634020557. 1
68634020558. 2
68634020559. 3
68634020560. 4

Question Number : 41 Question Id : 6863405193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

@IPIToElE calE QIY'@a KlF @'él?

1. 'délo de

| S

AT IR
3. ‘a1 @RI
4.'6QI9% 24!

Options :

68634020561. 1
68634020562. 2
68634020563. 3
68634020564. 4

Question Number : 41 Question Id : 6863405193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@IS SEE FIT@a P17l @'él?

1. 'deiq |

| B

| 'RE AIeIR
3. 'ardq @RI’
4. '5QIge @al
Options :
68634020561. 1
68634020562. 2

68634020563. 3
68634020564. 4

Question Number : 41 Question Id : 6863405193 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

@IPIToElE caE QIY'@T @lF @'él?

1. 'délo de

| S

e SR
3. ‘a1 @RI
4. '62192 @9

Options :

68634020561. 1
68634020562. 2
68634020563. 3
68634020564. 4

Question Number : 42 Question Id : 6863405194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fge°d YPYe GRad ATINIEGE 699 J96R 9FE?

1. Fam 9

Options :

68634020565. 1
68634020566. 2
68634020567. 3
68634020568. 4

Question Number : 42 Question Id : 6863405194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A99°8 Y°d8 Gead ATIRINGT 698 JT6R EE?
1. Fam aQ
2. QIg 99

3. gdlieaued 99

Options :

68634020565. 1
68634020566. 2
68634020567. 3
68634020568. 4

Question Number : 42 Question Id : 6863405194 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fge°d YPYe GRad ATINIEGE 699 J96R 9FE?

1. Fam 9

Options :

68634020565. 1
68634020566. 2
68634020567. 3
68634020568. 4

Question Number : 43 Question Id : 6863405195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3G get aIgl ' - g2 SI9Ieg BISRISH oY 6a1R @ 92837

1. IRIQEEIER

| o]

. GEEeq

. collaiaera

(5]

4. 899 91g]

Options :

68634020569. 1
68634020570. 2
68634020571. 3
68634020572. 4

Question Number : 43 Question Id : 6863405195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



852 gea SIgl 6 - Jgwq SITIeg AISRIST a1 6aln @ @2e3?

1. Taleerles

-

. Q6599

. edlaiaera

L ¥ ]

4.9 Q1g

Options :

68634020569. 1
68634020570. 2
68634020571. 3
68634020572. 4

Question Number : 43 Question Id : 6863405195 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

362 gos QIgl ' - gIag AVSg AISRST gy 6aln & aZa’?

1. FRIGsAIes

| ]

. Q6T

. cdlaiacra

[ 5]

4. 899 Q¢

Options :

68634020569. 1
68634020570. 2
68634020571. 3
68634020572. 4

Question Number : 44 Question Id : 6863405196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sQIGIEAIS YLAIR YelFl SAAFET K612
1. QIR 6gQ€Ia SIS
2. 9260 aages |
3. 6gIeI5 gagall

4. 28] AREIN|

Options :

68634020573. 1
68634020574. 2
68634020575. 3
68634020576. 4

Question Number : 44 Question Id : 6863405196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sQIGISAIS YLAIR YelFl SAAFET F'612
1. QIR 6gQEIa SIS
2. 9260 aages |
3. 6gIeI5 gagall

4. 28] AREIN|

Options :

68634020573. 1
68634020574. 2
68634020575. 3
68634020576. 4

Question Number : 44 Question Id : 6863405196 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



sQIGIEAIS YLAIR YelFl SAAFET K612
1. QIR 6gQ€Ia SIS
2. 9260 aages |
3. 6gIeI5 gagall

4. 28] AREIN|

Options :

68634020573. 1
68634020574. 2
68634020575. 3
68634020576. 4

Question Number : 45 Question Id : 6863405197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Clljeld Gél ZIIBE Q1Ea FI¢1 @'817

1. 66lle1

| S

.=
3. cAaE

4. me1

Options :

68634020577. 1
68634020578. 2
68634020579. 3
68634020580. 4

Question Number : 45 Question Id : 6863405197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Clljeld g8l ZIIBE Q1Ea FI¢1 @'817

1. eglle

| S

. Qg

1

@-‘\

3. 6Q@

4. me1

Options :

68634020577. 1
68634020578. 2
68634020579. 3
68634020580. 4

Question Number : 45 Question Id : 6863405197 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
cljl G&l ZRIBE Q169 FIF @417

1. eglle

[ S

. dIEI

4. me1

Options :

68634020577. 1
68634020578. 2
68634020579. 3
68634020580. 4

Question Number : 46 Question Id : 6863405198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'@l GOITReS'A GRS @417

1. @@alF @<

-

. 6IgNG 6EeR Gg

L5 ]

. Aiwlge Qld

4. dedllaz @14

Options :

68634020581. 1
68634020582. 2
68634020583. 3
68634020584. 4

Question Number : 46 Question Id : 6863405198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
'@l GOITReS'Q GRS @417

1. @@alr @<

-

. 6IgNG 6EeR Gg

L5 ]

Aiwlge Qld

4. dedllaz @14

Options :

68634020581. 1
68634020582. 2
68634020583. 3
68634020584. 4

Question Number : 46 Question Id : 6863405198 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'@l GOITReS'A GRS @417

1. @@alF @<

-

. 6QIGNE 659R G@g

L5 ]

. Aiwlge Qld

4. dedllaz @14

Options :

68634020581. 1
68634020582. 2
68634020583. 3
68634020584. 4

Question Number : 47 Question Id : 6863405199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

diglwle (8l 816 =il gaa dim AEGY Mwlseell godio ARNGS?

1. ellega
2. glug 2wl
3. agael
4. @19 B Q46

Options :

68634020585. 1

68634020586. 2

68634020587. 3
68634020588. 4

Question Number : 47 Question Id : 6863405199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



diglwle (8l 816 S=te] gaa dim AEGY Mwlseell godla ARNGS?

1. ellega
2. glug 2wl
3. agadel
4. @19 B Q46

Options :

68634020585. 1

68634020586. 2

68634020587 3
68634020588. 4

Question Number : 47 Question Id : 6863405199 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dPiwla ALIKIg L9 Sale] Jaw Ul AFSY Mwleeell godia dege?

1. allega
2. gl 2llwldl
3. a9de]
4. @19 6 Q4G

Options :

68634020585. 1

68634020586. 2

68634020587. 3
68634020588. 4

Question Number : 48 Question Id : 6863405200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'R @94 SRS 86 FITIR?

1. eglgigIel S1EIE

| ]

. 691Q1IEl 82
3. 390 UeRIge

4. glelliaiel QEl

Options :

68634020589. 1
68634020590. 2
68634020591. 3
68634020592. 4

Question Number : 48 Question Id : 6863405200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"IN @94 SRR 9as KITIa?

1. cglQngiel 1218

d

2. sQlLRIEl G2
3. OO AR

4. QUzliaiel il

Options :

68634020589. 1
68634020590. 2
68634020591. 3
68634020592. 4

Question Number : 48 Question Id : 6863405200 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'R @94 SRS 86 FITIR?

1. eglgigIel S1EIE

| ]

. 691Q1IEl 82
3. 390 UeRIge

4. glelliaiel QEl

Options :

68634020589. 1
68634020590. 2
68634020591. 3
68634020592. 4

Question Number : 49 Question Id : 6863405201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80 deiaa geam a1?

4. 6glee

Options :

68634020593. 1
68634020594. 2
68634020595. 3
68634020596. 4

Question Number : 49 Question Id : 6863405201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



=85 doee geam @917
1. 209

2. WERGT

4. 6169

Options :

68634020593. 1
68634020594. 2
68634020595. 3
68634020596. 4

Question Number : 49 Question Id : 6863405201 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@aql 36180 geam @q?
1. 299
2. FERaT
3. deqlq

4. 65169

Options :

68634020593. 1
68634020594. 2
68634020595. 3
68634020596. 4

Question Number : 50 Question Id : 6863405202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6¢legol - el 5@ dioge didlae 2Iag1ae?

1. g60g FI2IE

wd

2. F6QIQ RIgRsall
3. sQldIRIel C12I1E

4. QOIS AgFIg®

Options :

68634020597. 1
68634020598. 2
68634020599. 3
68634020600. 4

Question Number : 50 Question Id : 6863405202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

6¢legel - el [N=te] Aoge didliaG SIARIge?

1. 9608 A2IE

d

2. QERIT RIGRETl
3. equaiqia AL

4. Q018 9ERI0R

Options :

68634020597. 1
68634020598. 2
68634020599. 3
68634020600. 4

Question Number : 50 Question Id : 6863405202 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



6¢legol - el 5@ dioge didlae 2Iag1ae?

1. g60g FI2IE

wd

2. F6QIQ RIgRsall
3. sQldIRIel C12I1E

4. QOIS AgFIg®

Options :

68634020597. 1
68634020598. 2
68634020599. 3
68634020600. 4

Question Number : 51 Question Id : 6863405203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Literature is the criticism of life' (2264 1976 @918) - 926 FFIQ?

1. 2106"ISR

| o]

L@, Y. aRae

(5]

. Cllgd 2URERIRG
1. 9EGQ

Options :

686340200601. 1
68634020602. 2
68634020603. 3
68634020604. 4

Question Number : 51 Question Id : 6863405203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'Literature is the criticism of life' (2264 91906 *919) - 02 FTIQ?

1. 2R6RISR

-

.G 9. aRag

L ¥ ]

- FlEM Eloewime

4. 9E6Q

Options :

68634020601. 1
68634020602. 2
68634020603. 3
68634020604. 4

Question Number : 51 Question Id : 6863405203 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'Literature is the criticism of life' (21264 1976 ¥918) - 2 FFIQ?

1. 2R6RITH

2

L@, ¥, aRae

faa

. €llgy 2UREFING
4. 9969

Options :

686340200601. 1
68634020602. 2
68634020603. 3
68634020604. 4

Question Number : 52 Question Id : 6863405204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PE FRG 2ACER 2GR 676 94 §41?

1. '8 geygl

| ]

@El YoM
3. 'Elgl’ geyel

4.'99" geNeL

Options :

686340200605. 1
68634020606. 2
68634020607. 3
68634020608. 4

Question Number : 52 Question Id : 6863405204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Dgl ¥R 2AC6R 2IFER 6RE Ui 17

1.'9@" geigl

-

gl gk

3. 2l gL

4. 'aQ" gouLL

Options :

68634020605. 1
68634020606. 2
68634020607. 3
68634020608. 4

Question Number : 52 Question Id : 6863405204 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



PE FRG 2ACER 2GR 676 94 §41?

1. '8 geygl

| ]

@El YoM
3. 'Elgl’ geyel

4.'99" geNeL

Options :

686340200605. 1
68634020606. 2
68634020607. 3
68634020608. 4

Question Number : 53 Question Id : 6863405205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G019 6906 'UeR'a gGaR §6%7

1. ags

-

29
3. 699

4. goEe

Options :

68634020609. 1
68634020610. 2
68634020611. 3
686340200612. 4

Question Number : 53 Question Id : 6863405205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



G010 6906 'Uea'a 95aR §6e?

1. 2lga

| ]

Rl
3. ¢lge
4, guda
Options :
68634020609. 1
68634020610. 2

686340200611. 3
686340200612. 4

Question Number : 53 Question Id : 6863405205 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GCIg 6906 '099'R 95aR §a%?

1. BlEG

[ S

e
3,696

4. geRe

Options :

686340200609. 1
68634020610. 2
68634020611. 3
68634020612. 4

Question Number : 54 Question Id : 6863405206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q@@@ ’QG’LIIG‘-@Q - (return to nature) 9@ ILIQ?

1. gsal

| ]

. 655
3. Q&g

4. PlgEsR

Options :

686340200613. 1
68634020614. 2
68634020615. 3
68634020616. 4

Question Number : 54 Question Id : 6863405206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g@g@@ QGLIIG*@Q - (return to nature) QT FILIQ?

1. gsal

-

. 6959
3. QI6Q!

4. 2IEsR

Options :

68634020613. 1
68634020614. 2
686340200615. 3
686340200616. 4

Question Number : 54 Question Id : 6863405206 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g@ﬁ@ g@“ll@éﬁ - (return to nature) 9@ ILIQ?

1. gsal

| ]

. 655
3. Q&g

4. PlgEsR

Options :

686340200613. 1
68634020614. 2
68634020615. 3
68634020616. 4

Question Number : 55 Question Id : 6863405207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TC SFAS 6@E QY / dilaE Alae SEImeml?

1. 'The Return' ]e° Helen'

-

. 'Autumn’ ¥@° 'A City Sunset'
3. 'A lady' \9@° 'Landscape with the Fall of Icarus'

4. 'Hear an Army Charging upon the Land' *]9° 'In a Station of the Metro'

Options :

68634020617. 1
68634020618. 2
68634020619. 3
68634020620. 4

Question Number : 55 Question Id : 6863405207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'@@ FFRIQ 6FE UGY / deelaerg 2o 68lwemi?

1. 'The Return' “I2° 'Helen'

| ]

'Autumn’ 2° 'A City Sunset'
3. 'A lady' “99° 'Landscape with the Fall of Icarus'

4. 'Hear an Army Charging upon the Land' ¥1@° 'In a Station of the Metro'

Options :

68634020017. 1
68634020618. 2
68634020619. 3
68634020620. 4

Question Number : 55 Question Id : 6863405207 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TC GFAIC c@e Y / AT 2Ias SEInemi?

1. 'The Return' ]9° Helen'

-

. 'Autumn’ ¥@° 'A City Sunset'
3. 'A lady' \9@° 'Landscape with the Fall of Icarus'

4. 'Hear an Army Charging upon the Land' *19° 'In a Station of the Metro'

Options :

68634020617. 1
68634020618. 2
68634020619. 3
68634020620. 4

Question Number : 56 Question Id : 6863405208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(%) 82 986 (%) 21 TG -

(@) 298 (&) ga

A ezl 1 |=¢leiag

B. [eRds II. [peged

C. [peegq 111 [2E5 6aged
p I Sallelebak] IV [paie eduing

QEI6R QaUUIDLYS IRF PERQ 90K KEAT 9T @9 -

1. A-II. B-III. C-IV, D-I

-

CA-IL B-IV, C-I, D-II
3. A-IT, B-IV. C-I1, D-I
4. A-IV, B-III. C-I. D-II

Options :

68634020621. 1
68634020622. 2
68634020623. 3
68634020624. 4

Question Number : 56 Question Id : 6863405208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(%) 8@ 926 (8) 28 TRIF -

(@) 88 (%) aa

A [saQIal 1 [eduiaa

B. [0R9S II. [pRgasE

C. [PeIagq) I11. [299 0a9eE
D. [selosas| IV [pasie aduing

Gelen QALDYS IRT genn 20X VERT 5LF W9 -

1. A-II. B-I1I. C-IV, D-I

| ]

CA-IL B-IV. C-I, D-II
3. A-IIIL B-1IV. C-I1, D-I
4. A-IV, B-III. C-1. D-II
Options :

68634020621. 1
68634020622. 2



68634020623. 3
68634020624. 4

Question Number : 56 Question Id : 6863405208 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(%) 8@ 926 (8) 28 TRIF -

(@) 88 (%) aa

A ezl 1 |¢leiag

B. [0R9S II. [pRgasE

C. [priagy] 111 [2961 65908
D. [FeloEazE) IV [pasie aduing

Gelen QALDYS IRT genn 20X VERT 5LF W9 -

1. A-II. B-I1I. C-IV, D-I

| ]

CA-IL B-IV. C-I, D-II
3. A-IIIL B-1IV. C-I1, D-I
4. A-IV, B-1II. C-I. D-II

Options :

686340200621. 1
68634020622. 2
68634020623. 3
68634020624. 4

Question Number : 57 Question Id : 6863405209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q769 985 @2 TAUADE| 661151 G6GIS QUER 6 ARYT IR QAR :

Q6818 (A) : Q62 699F F64I SRS FYER. 69 64 ANEEET 6561 § AT IR 26ml

7184l (R) : 9IF° 91960 9194 G7162 9@ g 907 629 AI8ey @ 6529018 AIEwe! AFYIRIDY|
QU6AIB QYR AGAER G6R QLU TE AT FRIQ J0R S66 CUF @Rl

1. A9G° R 955 Q4. 9G° R, A @ Q0% QIS |

-

. A@°R Q@G 964, @3 R. A @ 909 QYIS g6 |
3. A 90@ 265 @3 R 909 g6g|
4. A 90@ 6% @g R 90@ 26e|

Options :

68634020625. 1

68634020626. 2

68634020627. 3
68634020628. 4

Question Number : 57 Question Id : 6863405209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1c166 9T QEQ TRULINET| 6616~ 9618 QUsa B ARYT SR QIR :

Q6QI (A) : V62 6RTR FEE CASIT FYER. 69 FEE QIREHER 6561 6 ATR IR ZYER

F1941 (R) : BIe 1660 @194 G163 Qs gas o9 62 A6y § 63ya0Ia AL ARgIRIKI
2U6EIS QA UGS G60 GEINIDY A9 ARG AU F08 a9 998 &4l

1. A95° R g8 @4, 1G° R. A @ 908 QYIS |

| ]

. A98°R 9@F 964, @3 R. A @ 909 QuIs §s<|
3. A 909 26% @9 R 909 g6%|
4. A 90% g6% @3 R 90 2153

Options :

68634020625. 1
68634020626. 2
68634020627. 3
68634020628. 4



Question Number : 57 Question Id : 6863405209 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q1769 995 w2 TRILIDEI 66115 96418 QUea § 2RYT Q104 QIR :

FEEIB (A) : Q62 ERP FE4l EAGSIR FYER. 69 F68 ARCHET 6761 6 ATR YIS Z6m

@94l (R) : SIE €196Q @194 G168 Q@ gaer 90 629 AlEey 8 65ya0ia L@ AagIIdl
26018 FAF AGLIER G6@ TN 9T FIeE g A0R A6 AT F

1. A95° R G96 @64, Ya° R, A @ 909 QUISH|

| B

. A@°R @EI6 964, @3 R. A @ 209 QYIS g6
3. A 90 2168 @3 R 909 g6%|
4. A 90 6% @g R 90 Z6e|

Options :

68634020625. 1

68634020626. 2

68634020627 3
68634020628. 4

Question Number : 58 Question Id : 6863405210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1c16Q 99T QE TRLIDT| 6615 9618 QUsa B ARYT SR QIR :
G661 (A) : 692 869 "P°ATNTF AT - 'AFL°Y'6S VSIS 6218 |

@106l (R) : 698 960 'dl 266 609 ¢1g' - 'pdidig' 9tas 62198

2U6aIS Q2 AGAEE 660 FRNIDYT F9F ARG A2 J08 a8 9A8 &4l

1. A95° R §8i5 @64, G° R, A @ 2108 Q415 |

J

. A@°R a6 964, @3 R. A @ 909 QYIS g6
3. A 90% 2165 @9 R 909 g6z |
4. A 909 6% @g R 90 26e|

Options :

68634020629. 1
68634020630. 2



68634020631. 3
68634020632. 4

Question Number : 58 Question Id : 6863405210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1c16a 99T QE TRLIDT| 6615 9618 QUsa B ARYT SR QLR :
G6G1a (A) : 606 JE68 "TAAIGEE QIFI" - 'AIFE°Y6R ORLE 6219E|
@191 (R) : 698 9860 'Rdl 2166 60 ¢1IE' - 'PaiFIE' 40as 62198
RUERIS FEG AGAEH 96R QTULINYS TRF AIGT FIQ A0R PR OAR KA
1. A95° R g8 94, e° R. A @ 908 QYIS |
2. A9°R 989G 994, @8 R. A @ 90 QuIel g&Z|
3. A 90% 2165 @9 R 909 g6g|
4. A 909 6% @g R 90@ 260
Options :
68634020629. 1
68634020630. 2

68634020631. 3
68634020632. 4

Question Number : 58 Question Id : 6863405210 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1g6% 996 w2le TRIKIDE| 66115 ] 96418 QUea § 2RYT @IRd Qa8 :
G6GIE (A) : 699 86R "T°AARTR AT - 'AFL°A'6R UGG 62T

F1941 (R) : 69@ gg6a 'Pdl 265 699 71’ - 'PANIT' 954 62198

2U60I8 Q2 AGUES G6 G2UNIDY TS AIFE U 0K 289 92 89

1. A95° R G96 @64, Ya° R, A @ 909 QUS|

| B

. A@°R @E6 964, @3 R. A @ 209 QYIS g6
3. A 90 2168 @3 R 909 g6%|

4. A 90 6% @g R 90 Z6S|



Options :

68634020629. 1
68634020630. 2
68634020631. 3
68634020632. 4

Question Number : 59 Question Id : 6863405211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@1g6% 996 w2le TRIKIDE| 66115 ] 96418 QUea § 2RYT @IRd Qa8 :
F6E18 (A) : "F1R FIRLFIER 686R 9UR| 87 Q196 gisa 9al eaR!l"
R0I60 LFR ANFIR 6l Fs|

21941 (R) : Q1Y G UG ¢RIEA 605N a9 Fag §716a QIRLIR Q426 6210 6 8 28 gRId 26 'AAR ARSI
4l

RUEIR KA AFAEH F6R FAULNRYF IR I TG 0K DA YR Fa
1. A99° R 995 904, YG° R, A @ 909 QUS|
2. A¥G°R 9@iG 9o4. @g R. A @ 90@ QuIglyl ge<|
3. A Q0@ 2168 @8 R 09 g6g|

4. A 90 g6% @g R 90w 263

Options :

68634020633. 1
68634020634. 2
68634020635. 3
68634020636. 4

Question Number : 59 Question Id : 6863405211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q769 985 @2 TAUADE| 661151 G6GIS QUER 6 ARYT IR QAR :
Q6818 (A) : "7 F1RLFIER 686° 9TRI 819 G196 gisa 9Tl SaR! 1"
M20I66 A9 AR 6GF8IT S|

@196 (R) : 994 §1 99 F1EA 66lIFH] g2 Haq GFIER FIAFIR IGES 6219 ar 6 28 gRIS @6m 'TAe ARSI
4

BShlE @ER e oo @EJFEIIE-‘IEJ_G‘I 9T Aee F12lgl ‘2169 BEltl G Well

1. A5° R 9@ 964, 9G° R. A @ 908 QYIS |

-

. A@°R Qa6 964, @3 R. A @ 909 QYIS 96|
3. A 90@ 2168 @g R 409 geg|

4. A 90 6% @g R 90 260

Options :

686340200633. 1
68634020634. 2
68634020635. 3
68634020636. 4

Question Number : 59 Question Id : 6863405211 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q769 985 @2 TAUADE| 661151 G6GIS QUER 6 ARYT IR QAR :
Q6818 (A) : "7 F1RLFIER 686° 9TRI 819 G196 gisa 9Tl SaR! 1"
M20I66 A9 AR 6GF8IT S|

@196 (R) : 994 §1 99 F1EA 66lIFH] g2 Haq GFIER FIAFIR IGES 6219 ar 6 28 gRIS @6m 'TAe ARSI
4

BShlE @ER e oo @EJEE]I'EIEJG‘I 9T Aee F12lgl ‘2169 BEltl G Well

1. A5° R 9@ 964, 9G° R. A @ 908 QYIS |

-

. A@°R Qa6 964, @3 R. A @ 909 QYIS 96|
3. A 90@ 2168 @g R 409 geg|
4. A 90 6% @g R 90 260

Options :

68634020633. 1

68634020634. 2

68634020635. 3
68634020636. 4

Question Number : 60 Question Id : 6863405212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1g6% 996 w2le TRIKIDE| 66115 ] 96418 QUea § 2RYT @IRd Qa8 :
G6GIE (A) : 69612 AIIFEA ARSI FITIFA @ INER FAAIPEYS RIS, PRAT CASNSIT @GR
@194l (R) : 90K 9943 SQIGIETE 1@ QUS|

Blohle @il dpdlisn otw aEJEE]IGIEJG‘I IaE AIee rlElgl ‘216‘5-?’ B0l Ee Wl

1. A95° R G96 @64, Ya° R, A @ 909 QUS|

| B

. A@°R @E6 964, @3 R. A @ 209 QYIS g6
3. A 90 2168 @3 R 909 g6%|
4. A 90 6% @g R 90 Z6S|

Options :

68634020637. 1
68634020638. 2



68634020639. 3
68634020640. 4

Question Number : 60 Question Id : 6863405212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q769 985 @2 TAUADE| 661151 G6GIS QUER 6 ARYT IR QAR :

G6EIE (A) : 6991 FlAIFER IRl SIH4RE G JRIea SRR QIS4 PR6E SAISISIE 2°R GR |
@1a¢l (R) : 981@ 9648 6219162198 e 98I

QU6AIB QYR AGAER G6R QLU TE AT FRIQ J0R S66 CUF @Rl

1. A9G° R 955 Q4. 9G° R, A @ Q0% QIS |

-

. A@°R Q@G 964, @3 R. A @ 909 QYIS g6 |
3. A 90@ 265 @3 R 909 g6g|
4. A 90% 6% @g R 90@ 26e|

Options :

68634020637. 1

68634020638. 2

68634020639. 3
686340200640. 4

Question Number : 60 Question Id : 6863405212 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1c16a 99T QE TRLIDT| 6615 9618 QUsa B ARYT SR QLR :

36613 (A) : 69919 FlluFIEa JEIKIBYS! SIdia @ IRIER TAAPYS! AUVY, LRAS SASISAIS R G|
#1941 (R) : 9912 9943 6QISI6AGS U@ RIS

2U6EIS QA UGS G60 GEINIDY A9 ARG AU F08 a9 998 &4l

1. A95° R g8 @4, 1G° R. A @ 908 QYIS |

| ]

. A98°R 9@F 964, @3 R. A @ 909 QuIs §s<|
3. A 909 26% @9 R 909 g6%|

4. A 90% g6% @3 R 90 2153



Options :

68634020637. 1
68634020638. 2
68634020639. 3
686340200640. 4

Question Number : 61 Question Id : 6863405213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@1g6% 996 w2le TRIKIDE| 66115 ] 96418 QUea § 2RYT @IRd Qa8 :
Q6GIE (A) : 9RGl - 62OF §61a G99F A

@194l (R) : 9QQ AC® 231 98 QI 968k 097 Ue 68 J84E @8 CPeNUsa Ui @89g 'AfIa’ @eIan|
Qell: (A) 62 'a9q FE' = aag@l]

RUERIB GG AGAEH 660 QRILINSS AT AIFE AUg A0R P68 UG @4l

1. A95° R gai6 964, 9G° R. A @ 2108 QYIS |
2. AIG°R §8iG 964, @8 R. A @ 20 QuIe g&e|
3. A 90@ 2168 @g R 909 g6z |
4. A 909 6% @g R 90 260

Options :

68634020641 1

68634020642. 2

68634020643. 3
68634020644. 4

Question Number : 61 Question Id : 6863405213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Q769 985 @2 TAUADE| 661151 G6GIS QUER 6 ARYT IR QAR :
G6G1a (A) : ¢Sl - 6208 o1 GgQE asle|

R84 (R) : 0102Q 948 go1 99 @I 9681e 0eg Ue 1068 IR0 @8 2PeNUsa gRId @aelq ‘A’ @aian|
Qell: (A) 62 'd9g eI = dag@l]

RUERIS FAG AGACH G6R TRULINYS FT AINE TG 0K 99N OAF W4

1. A@°R 996 @64, ¥e° R, A @ Q0% Q4IgMI|
2. A¥G°R 99IC 964, @3 R. A @ 20@ QuIe gee|
3. A 90 2168 @3 R @09 g6
4. A 909 6% @g R 90 26e|

Options :

68634020641. 1

68634020642. 2

68634020643. 3
68634020644. 4

Question Number : 61 Question Id : 6863405213 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q769 985 @2 TAUADE| 661151 G6GIS QUER 6 ARYT IR QAR :
G6G1a (A) : ¢Sl - 6208 o1 GgQE asle|

R84 (R) : 0102Q 948 go1 99 @I 9681e 0eg Ue 1068 IR0 @8 2PeNUsa gRId @aelq ‘A’ @aian|
Qell: (A) 69 'd9qg FE!' = Aag@l]

RUEAIS FAG AGAEH G6R QTULINYS ARF AIFT TRIQ A0R VLR FAF K4
1. AQ°R 98¢ 964, 18" R, A @ 908 G4IeMI|
2. A¥G°R 990 964, @8 R. A @ 90 QuIe gee|
3. A 90 2167 @3 R 409 g6%|

4. A 90 §6¥ @g R 90 26T

Options :
686340200641. 1
68634020642. 2



68634020643. 3
686340200644. 4

Question Number : 62 Question Id : 6863405214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1c16a 99T QE TRLIDT| 6615 9618 QUsa B ARYT SR QLR :
Q6812 (A) : 'Q1G 280 6G99Yg @8 97 9T @0F - AAWGRET IZ 926 el 8 22°02 AR AERETR|
@194l (R) : 6@l€1d 66l 215068 U918 @ae 966166 e 919 630 TI06e 2gae KR FIF|
RUERIS FEG AGAEH 96R QTULINYS TRF AIGT FIQ A0R PR OAR KA
1. A95° R g8 94, e° R. A @ 908 QYIS |
2. A9°R 989G 994, @8 R. A @ 90 QuIel g&Z|
3. A 90% 2165 @9 R 909 g6g|
4. A 909 6% @g R 90@ 260
Options :
68634020645. 1
68634020646. 2

68634020647. 3
686340200648. 4

Question Number : 62 Question Id : 6863405214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@1g6% 996 w2le TRIKIDE| 66115 ] 96418 QUea § 2RYT @IRd Qa8 :

96913 (A) : '916 2150 65994g G 96 9% @08 - AAwgger Z 926 26dlae @ A9°ae Ud ARl
@194l (R) : 6@l€Id 60lIT™ AZR60 AFIS A QEFI6R IR JWIA 690G A06R AT @6m FI|

26018 fAF AGLIER G6@ TN 9T FIeE g A0R A6 AT Fa

1. A95° R G96 @64, Ya° R, A @ 909 QUS|

| B

. A@°R @E6 964, @3 R. A @ 209 QYIS g6
3. A 90 2168 @3 R 909 g6%|

4. A 90 6% @g R 90 Z6S|



Options :

686340200645. 1
68634020646. 2
68634020647. 3
686340200648. 4

Question Number : 62 Question Id : 6863405214 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@1g6% 996 w2le TRIKIDE| 66115 ] 96418 QUea § 2RYT @IRd Qa8 :
2618 (A) : '916 2BRF 6T T @3 9F @0 - AAVGHEA 1T 02T 2edleR 3 A2°0S A8 AeFETR |
@194l (R) : 6@l€Id 60lIT™ AZR60 AFIS A QEFI6R IR JWIA 690G A06R AT @6m FI|
RUERIB FEF AFAIER F6R F2ULINYT TR AT I AOR VAR FAR F
1. A95° R G96 @64, Ya° R, A @ 909 QUS|
2. A¥G°R 990 964, @3 R. A @ 209 QI gee|
3. A 90 2168 @3 R 909 g6%|
4. A 90 6% @g R 90 Z6S|
Options :
68634020645. 1
68634020646. 2

68634020647. 3
68634020648. 4

Question Number : 63 Question Id : 6863405215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ISNE RY92E DQILAA : - 2| F1UQ 64T g AT

A. QIg + Q2IF = QUGRAR
B. @19 + 24l = f1a4|

C. @€ + 213 = 9915

D. @R + 218l = 998

E. §ig + 2% = §ieG|

QeI6R QUUIDLR FREQ AT Q1@ 6aw A0R FLAT 0T K9G|

1. AB.C.D

| S

A DL E
JABDE
4 A B.C.E

Options :

68634020649. 1
68634020650. 2
68634020651. 3
68634020652. 4

Question Number : 63 Question Id : 6863405215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OBYE QIQTE VFITRE : - 12l FAQ 645N ga 21T

A. RIG + Q2F = QUGAR
B. @18 + 21€ll = 9104l

C. ®¢ + 27 = 9915 |

D. 6% + 28 = 903l

E. 99 + 23 = ¢3!

qelen GRS YRR PRTY 9I@ 699 20K 2R9T 0T Fag!

1.ABCD

| ]

A CDLE
JJAB.D.E
4. A B .C.E

Options :
686340200649. 1



68634020650. 2
68634020651. 3
68634020652. 4

Question Number : 63 Question Id : 6863405215 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
geie 18 @9Iead @ - gl f1dg SRIG falfl 2G|

A. RIG + Q2F = QUGRAR|
B. @IQ + 28l = Q14|

C. 29 + 23 = 2913 |

D. o) + 28 = 903

E. §¢ + 28 = §IoG|

QeleR QUL FREY PRTY 1@ 697 A0R FVAE 0T F9G|

1.ABCD

| S

A EDLE
JABDE
4 A B.C.E

Options :

686340200649. 1
68634020650. 2
68634020651. 3
686340200652. 4

Question Number : 64 Question Id : 6863405216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. (G960 @19 26RIGT eaIe "3E2 VUG 2608 G2, FeRem I FITE 26T BT ATQ" AL TR
Q196 c2Rll

B. I@l6l 67125, 6010169ea 8 9 A606R91R QiR AZIRIE FIER 332 fI9Ie gadl 2Idgen

C. 1873 adeig 652 sIgl 26991 AUNIPET FI§T Al

D. QIsliey AITEY 6 991 361619 QIMas A126Y 98 8 Jgig Faad @89l Tesa 2ljEe GGl AIZHe aFId
QI GIg 62|

E. QI6nga @ 966 62¢ 080 362 Q19 f6RId 989 dia g2R 959! Kage

Gel69 goa GaE geny 90 9aes 525 wagl

LABCE

| B¥]

AHCD
3.A.B.D.E
4.B,C,D,E

Options :

68634020653. 1
68634020654. 2
68634020655. 3
68634020656. 4

Question Number : 64 Question Id : 6863405216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. (G960 2191 26197 e0Ie "352 RIGI 9608 @2, FeRen I KIGE 26w B ATQ" AR TR
B[RSl

B. I@l8 67125, 651916ea 6 92 269974919 QIR AR FI6R 302 fITIa gad 2Idgen

C. 1873 adeiq 662 QISI @609 QIR FIE RIASRI|

D. QIsliey AT 6 991 3e1aIe IHIaR AT 98 8 S8ig Faad @09l TR6a 2YFe 3Gl AZe IFI8
QI GIg s2R|

E. QI6R4Q Q €66 62¢ 086 (G2 919l F6aid 959! dia g2w aoq! @agen

GeIED UoR I9F geny 90 0ead 925 wag!

1.LABCE

J

B ED
3.A.B.D.E
4.B.C.D.E

Options :



68634020653. 1
68634020654. 2
68634020655. 3
68634020656. 4

Question Number : 64 Question Id : 6863405216 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. (G960 @19 26RIGT eaIe "3E2 VUG 2608 G2, FeRem I FITE 26T BT ATQ" AL TR
Q186 627! |

B. I916 66125, 60191d@a § 9 96906919 QI AZIRIRI AI6e 362 QITia 9ol lsgsm

C. 1873 adeiq 652 QIgl 96091 QUTIRET FIGE RIQSRI|

D. QIsliey AT 6 991 3e1aIe IHIaR AT 98 8 S8ig Faad @09l TR6a 2YFe 3Gl AZe IFI8
QIR gIY 62|

E. QI6R4Q Q €66 62¢ 086 (G2 919l F6aid 959! dia g2w aoq! @agen

GeIED UoR I9F geny 90 0ead 925 wag!

1.LABCE

-

AHED
3.A.B.D.E
4.B,C,D,E

Options :

68634020653. 1
68634020654. 2
68634020655. 3
68634020656. 4

Question Number : 65 Question Id : 6863405217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qF] QEIF Qe AUAE @9 A0T FAF TUR K9G |

A AFIRISE 4968d QUG - "IN |

B.'Zleqld §al' - sqioeg 9I9e gal

C. 9948191 QTGS 8 geam - FILIG FIaZ 8|

D. @@ 697 §29 U0 #8618 6aa%Y|

E. @@639919 o351 F1213 aliflae deeal 99ga 96|

GeI6Q QAL FRTQ A0S LAAT Tg KA

1. AB.C.D

| S

A DL E
JABDE
4.B,C.D,E

Options :

68634020657. 1
68634020658. 2
68634020659. 3
68634020660. 4

Question Number : 65 Question Id : 6863405217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q7 FEF GEn AUEE B9 907 FAF 9AF FaS |

A. 9IRS 996gF QU - 'REILNC |

B. '2@®id 63l - 60109 @de 9

C. 9945191 AITGI8 ol geam - FISIA FIed ]

D. @% 697 g2 o fL0I8 6Ta%Y|

E. @@69919 S3I9d 91213 aldifldes daea a88a @ |

Gelea GaILIngQl @eEq 909 99T 526 wag!

1.ABCD

| ]

A CDLE
JJAB.D.E
4.B,C. I E

Options :
68634020657. 1



68634020658. 2
68634020659. 3
68634020660. 4

Question Number : 65 Question Id : 6863405217 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Q%] QEIF Qe AUE @9 A0T FAF TUR K9G |

A AFIRISE 496gd QUG - 'S |

B.'2lewld §al' - sqioeg 9Ide gal

C. 9945191 TGS ol geam - FILIA FIed°g]

D. @@ 697 §29 U0 #8618 6aa%Y|

E. @269919 S3I51E 91213 aldiflds aaeal asaa @ |

QeleR QUL IR A0R PRAG 9LF FG|

1.ABCD

| S

A EDLE
JABDE
4.B,C.D,E

Options :

68634020657. 1
68634020658. 2
68634020659. 3
68634020660. 4

Question Number : 66 Question Id : 6863405218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QARSRAIF'A RIIEH ATFS FER 2R TAADE | A0S VAT YT 62R:

A 'S99 ARFFFIEEF GGG U@
@8 MIEQ dIF FIRIER FlIaR
B. '@286% ¢15. 621 661l 92
SR AEFEsE @ a2l @velll
C.'@%  99Ia eaany Qo]
@°d 2@ 71995 626w g
D. 'aQ 27e AUF ASHT,
a8l K8 989 ERIR
E.'@2I69 994 Q12 696l €Re.
6R8 6RIS 26 & GRS YR

GeIE GAULIPYS FER A0F VRAT 526 wag!

LAHED
2.A.CD;B
3.B.C.D.E
4.A.B.D.E

Options :

68634020661. 1

68634020662. 2

68634020663. 3
68634020664. 4

Question Number : 66 Question Id : 6863405218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A 'S99 ARFFFIEEF GGG U@
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C. '@ 99Ia ey Q9|
@°d 2@ 71995 626w g
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P8 6RIS 26k & GRS YR

GeIE GALIPYS VR A0F VRAT 526 wag!

1.A,B,CD
2K DR
LB.CBE
4.A.B.D.E

Options :

68634020661 1

68634020662. 2

68634020663. 3
68634020664. 4

Question Number : 66 Question Id : 6863405218 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QARSRAIF'A RIIEH ATFS FER 2R TAADE | A0S VAT YT 62R:

A 'S99 ARFFFIEEF GGG U@
@8 MIEQ &IF FIRIER FlIaR
B. '@2869 ¢15. 6217 6¢1l @2
SR AEFEsE @ a2l @velll
C. '@ 99Ia ey Q9|
@°d 2@ 71995 626w g
D. '@ Age AUF ASHa,
a8l K8 989 ERIR
E.'@2I69 994 Q12 696l €Re.
P8 6RIS 26k & GRS YR

GeIE GALIPYS VR A0F VRAT 526 wag!

1.LAB.C.D

| o]

AL E
3B E
4. A.B.D.E

Options :

686340200661. 1
68634020662. 2
68634020663. 3
68634020664. 4

Question Number : 67 Question Id : 6863405219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Gelen G52l Ade 99 6 3919 ANea 95a% FRIKIRE, AITlg F690R 88 aa Tl

A A9RYR GRS G5F68IE FI0% TITIE U6a 63IDe 52 (EHIa 9I91aed Rd 681 ged aauanrd]

B. QIg1aid B6aIe 218 fd a19se @6e56 g4I

C. 9RQea A BGaI6a 99T0 62INERIA 671414 A°6ae F1E |

D. g9l 332l Ad - 144 S81R10IQ 164 96191 Odis Q420 celagmll

E. 2geiam caigd d6/910 668 sIS6a 362 gI9le ma 21166 161 2yFe (62 Adea 9946 6219 21T

Gel6R QYIRS FREY 908 2847 5§95 *9g|

1.LAB.C.D

| o]

ALBEE
33JA.B.D.E
4.B.C.D.E

Options :

686340200665. 1
68634020666. 2
68634020667. 3
686340200668. 4

Question Number : 67 Question Id : 6863405219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gelen G52l Ade 99 6 3919 ANea 95a% FRIKIRE, AITlg F690R 88 aa Tl

A A9RYR GRS G5F68IE FI0% TITIE U6a 63IDe 52 (EHIa 9I91aed Rd 681 ged aauanrd]

B. QIg1aid B6aIe 218 fd a19se @6e56 g4I

C. 9RQea A BGaI6a 99T0 62INERIA 671414 A°6ae F1E |

D. g9l 332l Ad - 144 S81R10IQ 164 96191 Odis Q420 celagmll

E. 2geiam caigd d6/910 668 sIS6a 362 gI9le ma 21166 161 2yFe (62 Adea 9946 6219 21T

Gel6R QYIRS FREY 908 2847 5§95 *9g|

1.LAB.C.D

| o]

ALBEE
33JA.B.D.E
4.B.C.D.E

Options :
686340200665. 1



68634020666. 2
68634020667. 3
68634020668. 4

Question Number : 67 Question Id : 6863405219 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gelen G52l Ade 99 6 3919 ANea 5% FRIKIRE, AITlg F690R 88 aa Tl

A A9RYR GRS G5F68IE FI0% TITIE U6a 63IDe 52 (EHIa 9I91aed Rd 681 ged aauanrd]

B. QIg1aid B6aIe 218 fd a19se @6e56 g4I

C. 9eea fd 6GaI6a 9970 62INERIA 6x141d 2°6ae F1F

D. g9l 332l Ad - 144 S81R10IQ 164 96191 Odis Q420 celagmll

E. 2geiam 68Igd 961216 6618 sIgea 362l gI9le ma 216q d16a 2iyFe (E2 Adea 9946 6215 213

QEIES GRIQIRYQ @REE A0S R8T 926 Kag!

1.A.B.C.D
2.A,B,CB
3.A.B.D.E
4.B,C.D,E

Options :

68634020665. 1

68634020666. 2

68634020667. 3
68634020668. 4

Question Number : 68 Question Id : 6863405220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AIGIGH FITIGY F5F FAG JOg IEITT F0 Qa9 EASIF

. 2RI Ye° 6521 AIRISY @ 6RIFR BOR! GREm

629219 G INISY AITEYR 2T 98 gl |

eMesIaT, 62806 @a J1de gdT aeq! Rl

. A1gEY 6Q 2ABBETRSN GIRI 2AFETE T 6 ARINE BIF 64 (5340 94 Grss agiae eaipald - gl
degoaw IFIQ gwl

E. 21904 760 §35ISe FIoR QIR A6TIRA g 91f AISIRIag gRIae Kageml

g o o

@7 g 98 gewn 20k Q90T 926 Fag|

1LLED.C.B

| B

B A
3.A.C.D.E
4.A.B,D.E

Options :

68634020669. 1
68634020670. 2
68634020671. 3
68634020672. 4

Question Number : 68 Question Id : 6863405220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIGIGH FITIGY F5F FAG JOg IEITT F0 Qa9 EASIF

. amaig 1e° 3621 AZIRIQY @4 6TITR AOF FREem |

629217 G AISSY ATGHR 2T @8 eI |

eMesIaT, 62806 @a J1de gdT aeq! Rl

. CIgEY 621 ABBEYRSN QIR AGeTae 21 6 FAINE BIG 64 FRIYR IIE GrI6S agiae caipeld - 9@l
degTA IQIA gwll

E. 21904 790 §35ISe FIoR QIR A6TIRA ggs 91f AISIRIas gRIee Kageml

(R W v » R

G% gea St genn 20k 090s 526 ag|

LELDCB

-2

e A
3.A.C.D.E

4. A.B.D.E



Options :

68634020669. 1
68634020670. 2
68634020671. 3
68634020672. 4

Question Number : 68 Question Id : 6863405220 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIRIGY RIPIGY FHE FAG JOF IEITN KR LA ENSG|

. aRalg e° 3591 AZIFISY @4 6TIN8 B9F| KR |

629217 G AISSY ATGYR 2T @8 Gl |

eMsRIaT, 62006 oo J1de g9de eeq! Rl

. C19aY 64 2A2BEZREN Q1A AGEYRR 2 6 IVIRE BIF 64 AGAYG TRIF G768 ALIAR 62192 - )
AsgTas agId gwl|

E. 121904 769 §I8ISe G199 QIS 6T 99s 91 AISIFIag ORISe Kagsm|

g n o= =

@7 gen Iee geen 20k 0e9s 926 63|

1.E.D.C.B
2.B.C.D.A
FA CE IR
4. A.B.D.E

Options :

68634020669. 1

68634020670. 2

68634020671. 3
68634020672. 4

Question Number : 69 Question Id : 6863405221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QEER GEE e QANDET|

wele - 1 : QI0aGde 9 G anlsass e 92 609 Ue 6% I8eae ¢1d 621R TIea
@el7 - I1 : G4l - 9QIgY / QI9T. 6919% - @0 / 994

QU60IB QYR AGAER F6R QUUDIYF 9BG LY 0T A6 CUF X4

1. @85 - [ 9e° @aq - Il ga6 Q0w 26T

| S

. ReIF - 1 9e° @ae - [[ g9 A0 geg|
3. @ale - [ 909 26T @g @ae - II a0 gee!
4. 9817 - 1 A0 G6T @g @2q - II A0 26T
Options :
68634020673. 1
68634020674. 2

68634020675. 3
68634020676. 4

Question Number : 69 Question Id : 6863405221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QIR §RT @R F2UIDE|
@2 - 1: QIIGGIEe 9% Fda @RIEasR @ S 698 O¢ GIel 06eae f12l 62IR G|
wela - II : gddl - @@l / Q@lnl, ewlelw - @06 / a@9

BRsGle @Eq d9les ot ﬁammqm G0 F1d5l @56‘ Gl Gl @all

1. ®al7 - 1 9e° faq - I1 gae 90 263

| ]

. @817 - 1 9e° 92i@ - [T 9aiG 909 §6%|
3. @elF - 1 90% 26T @% 92F - II 90 g6%|

4. 92e - 1909 6% @g 9217 - 11 20 263

Options :

68634020673. 1
68634020674. 2
68634020675. 3
68634020676. 4



Question Number : 69 Question Id : 6863405221 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Q76D GEIe Fee QAUNDT|
@2q - I : 9l0GoIEe g G99 @RIEess ¢l e 698 0@ SIel 9Ge@S Fzl 62T TIEa|
wela - II : Ul - QI / @191, 6RI9lT - Q0% / e@dl

Bdlohla @il gy dlisn otw 55?5]@84@ HEE F1Egl @@@ @aElol Gl @ell

1. @25 - 1 9e° @2@ - 1 ga6 A0 263

| B

. REIF - 19e° @ale - [1 g6 90 §6%|
3. @ele - 1 209 2166 @9 @84 - I 40@ g6%|
4. @815 - 1 90% g6% @g @2q - I 20 266
Options :
68634020673. 1
68634020674. 2

68634020675. 3
68634020676. 4

Question Number : 70 Question Id : 6863405222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QTR GEF eF TAUADT|
@ela - 1 : 60@ 09, TLU9a g4l @l 29qiq 69T P64, G2l 'Fals Feadd|
Rel@ - I : T F6484 FU0@ GIQ HQLE E2IFal|

2dGhlE @Eq dAgdleq 6w 531?@6'!84@4 GIEG F1EG @@6" Qa6 GElE @l

1. @als - [ 9e° gag - 1 §aF A0 26s|

-J

. R81F - 1 9e° @2 - [1 996 A0 geg|
3. @ale - [ 909 26T @9 @849 - 11 40 g6%!
4. 9817 - 1 90@ g62 @g @24 - II 20 263
Options :

68634020677. 1
68634020678. 2



68634020679. 3
68634020680. 4

Question Number : 70 Question Id : 6863405222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QTR GEE eF TAUADT|
@ela - 1 : 641@ 09, TUUea g4l @l 2A9qIq 69T F6a. G2l 'Tals Fead|
Felq - I : QEUS F68I84 FUAQ GIQ GHQLE 62IFal|

BRsGle @Eq d9les ot aﬂ?QIE'IEJG'I G0 F1d5l @56‘ Gl Gl @all

1. @al7 - 1 9e° faq - II §ae 90 263

| ]

. Re1F - 1 9e° g2 - [I 996 90 §eg|
3. wale - [ 909 26T @9 a9 - II 90 g6%!
4. 98l7 - 1 90@ g62 @g @24 - II 20 263
Options :
68634020677. 1
68634020678. 2

68634020679. 3
68634020680. 4

Question Number : 70 Question Id : 6863405222 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GER gEIc @2le QAR
@el7 - 1 : 608 00. 21094 gd 91 Feqlg 95980 @69, Gle! 'THIT Seadd|
ReE - I : FAF F6894 FAUTQ GIQ USLE 6Tl

Blohle @il dpdlisn otw 53?5]@84@ HEE C1Egl @@@ @aElol Gl @ell

1. @85 - 1 9e° @2@ - I ga6 A0 263

| B

. REIF - 19e° @ale - [T g6 90 §6%|
3. @wele - 1 209 2166 @9 @84 - I 40@ g6%|

4. @815 - 1 90@ g6% @g @24 - I 20 266



Options :

68634020677. 1
68634020678. 2
68634020679. 3
68634020680. 4

Question Number : 71 Question Id : 6863405223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GER gEIc @2le QAR
@el7 - 1 : 9910 396 961 '2' 99 @9l FQey 94 Jem @94 AIaea '@ 2
Feq - I : 99 999 ABY G 68964 QI FAd 96Q 'R, 'Y, T’ g6m A9 AIFER 'Y ¢4
PU60IB FAlF AGAIER G6@ T2ULINYT HRG FUR AT A9 FHAT @4l

1. @85 - 1 9e° @2@ - I ga6 A0 263

| B

. REIF - 19e° @ale - [T g6 90 §6%|
3. @wele - 1 209 2166 @9 @84 - I 40@ g6%|

4. @815 - 1 90@ g6% @g @24 - I 20 266

Options :

68634020681. 1
68634020682. 2
686340200683. 3
68634020684. 4

Question Number : 71 Question Id : 6863405223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QEER GEE e QANDET|

@eld - 1 : IRI6 G296 U6R 2l g6 @)l 2edly @4l flem @9 21eea '@ 9|

Rele - I : 9 999 2124 @1 69968 2@ Gad 088 '@, 'Y, '’ g6 324 AIFEa 'Y 41
2U6aI8 @EF AGAIER 6@ G VA FUP 998 2A9 94T ¥4l

1. @85 - [ 9e° @aq - Il ga6 Q0w 26T

| S

. ReIF - 1 9e° @ae - [[ g9 A0 geg|
3. @ale - [ 909 26T @g @ae - II a0 gee!
4. 9817 - 1 A0 G6T @g @2q - II A0 26T
Options :
68634020681. 1
68634020682. 2

68634020683. 3
68634020684. 4

Question Number : 71 Question Id : 6863405223 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QEER 98T KaF FAUIDT|
@ela - 1 : JGIe G96 U6Q 2 ga @€l ARG @4l gem Fad AIRea G 9|
Relq - I1 : gS 9a9 284 Q1 $686a 9l Gad 96a ', U, T g6m 396 AIRea 'Y g4I
PUERI8 G2 AGAIER 56R QRILINLS P8 FUQ 95T Pe8 9UF Fal

1. ®al7 - 1 9e° faq - I1 gae 90 263

| ]

. @817 - 1 9e° 92i@ - [T 9aiG 909 §6%|
3. @elF - 1 90% 26T @% 92F - II 90 g6%|

4. 92e - 1909 6% @g 9217 - 11 20 263

Options :

68634020681. 1
68634020682. 2
68634020683. 3
68634020684. 4



Question Number : 72 Question Id : 6863405224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Q76D GEIe Fee QAUNDT|
@2q - I : 99a°8 d0Ie16s ACIS Ia96a @LI@@ Zlaja ool dula eallGlmil

@alq - I1 : gall, aosial, 916 65090l 760 aaadie adie Qiedl 0Gese @arde 922 7196 68w 6 Q13 aal
cRIDEIRI 2e A2

BEEtlw @Eh 2 9les ot @aamaqm EARY L @5@ G0l QR @all

1. @als - 1 9e° qaq - II §ae 90 263

[ B]

@817 - 19e° 92e - [T §aiG 909 gew|
3. @85 - 1 909 216G @g Q2% - II 90 g6%|
4. 92e -1 909 6% @g 9217 - 11 20 263
Options :
68634020685. 1
68634020686. 2

68634020687. 3
68634020688. 4

Question Number : 72 Question Id : 6863405224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GER gEIC @2le QAR
@2q - I : 99a°d deIe1se ACle 9aeea @LI@?L Zla)@ gy delt @eliciml |

@ele - I1 : gall, aasial, 918 65090l 760 aaadie adie Qiedl 0Gese @arde 220 7196 68wl 6 Q13 el
cRIDEIRI 2e A2

BEEtlw @Eh 2 9les ot @aamaqm EARY L @5@ G0l QR @all

1. @als - 1 9e° qaq - II §ae 90 263

[ B]

. P87 - 1 9e° @2 - I g9 90 geg|
3. walq - 1 909 26T @g w89 - II 90 g6e!

4. 98l7 - 1 90@ 962 @g @2q - II 20 267



Options :

68634020685. 1
68634020686. 2
68634020687. 3
686340200688. 4

Question Number : 72 Question Id : 6863405224 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GER gEIc @2le QAR
@2q - I : 99a°d deIe1se ACle 9aeea G‘LI@?L Zla)@ gy delt @eliciml |

@ele - I1 : gall, aasial, 918 65090l 760 aaadie adie Qiedl 0Gese @arde 220 7196 68wl 6 Q13 el
cRIREIR 2e F12Yd |

BEEtlw @Eh 2 9les ot @EJEE}I'EIEJG‘I EARY L @5@ G0l QR @all

1. @als - 1 9e° qag - I1 §ae A0 266

J

. R85 - 1 9e° @ae - [1 gas a0e geg|
3. @alq - [ 909 266 @g @aq - 11 90 g6g!
4. 9817 - 1 90@ 962 @g @2q - II 20 263

Options :

686340200685. 1
686340200686. 2
68634020687. 3
68634020688. 4

Question Number : 73 Question Id : 6863405225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QEER GEE e QANDET|
@ela - [ : QISeY ATEY ATUERISF ¢JFH6E @9 SIGER aug

@el7 - I1 : Ga4I99I91 AFIERISR Tl ATY 6996a 3°d 96IR18 998 9R6a AATRIE K6l 18 ARF
asI|

Bkl @i dgdisn oow @EJEE!IEIE‘J@I BEn C1agl @5@ BElol Gl @ell

1. @2 - 19e° Q2@ - IT @@ 90 26T

| B

. REIF - 19e° @2l - 1 g9 a0e gew|
3. @ale - 1 2909 2166 @9 @4 - I1 40 ges|
4. @817 - 1 90@ g6% @g @2q - 1 20 26T
Options :
68634020689. 1
68634020690. 2

68634020691. 3
68634020692. 4

Question Number : 73 Question Id : 6863405225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QEER GEE e QANDET|
wele - I : QIseY ATSY AeIenIon! Z]8lioE Q9 witlen Fasl

@el7 - I1 : Ga4I99I91 AFIERISR Tl ATY 6996a 3°d 96IR18 998 9R6a AATRIE K6l 18 ARF
o el

@Uokle @y ddien otR aEJEQI'EIEJG‘I BRI F1ag @5@ Gl QR @all

1. @8 - 19e° KaG - II 995 90 26T

[ B]

. ReF - 149e° qalg - [1 996 a0e ge%|
3. @alg - 1 909 266 @9 @846 - I 40 ge%
4. @217 - 1 90@ g6% @g @2q - I 20 263
Options :

68634020689. 1
68634020690. 2



68634020691. 3
68634020692 4

Question Number : 73 Question Id : 6863405225 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QTR GEE eF TAUADT|
@eq - [ : QISSY ATEY ARNERSF CBNGE @9 RISES Fu

@elF - I : SEHI9QIa] AFIERISE| T AT 68864 3°d 991910 68 @awe6a 2IAgald f88)al e 2aee
alzialle]!

Buole R dydisn vow ﬁﬂfﬂlﬁﬂ@[@l wE Fl1egl @.@G} a6l oLl @il

1. @2l% - [ 9e° @aq - II ga Q0@ 263

| B

. RElF - 198° @ale - [T g6 a0e gew|
3. wele - 1 20 2166 @9 a4 - Il 0@ ges|
4. @815 - 1 90@ g6% @9 @24 - I 20 263

Options :

68634020689. 1
68634020690. 2
68634020691. 3
68634020692. 4

Question Number : 74 Question Id : 6863405226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QEER GEE e QANDET|

@215 - [ : J9YQ 2Y6R AR AF6R JIs A gRIad|

@87 - I1 : 90I2 g 92 %Y 16594 09gI26a gl g 99180 626 AsNIgaid 24
QU60IB QYR AGAER F6R QUUDIYF 9BG LY 0T A6 CUF X4

1. @85 - [ 9e° @aq - Il ga6 Q0w 26T

| S

. ReIF - 1 9e° @ae - [[ g9 A0 geg|
3. @ale - [ 909 26T @g @ae - II a0 gee!
4. 9817 - 1 A0 G6T @g @2q - II A0 26T
Options :
68634020693. 1
68634020694. 2

68634020695. 3
68634020696. 4

Question Number : 74 Question Id : 6863405226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QEER 98T KaF FAUIDT|
@aR - [ : 994 AGYES DA 2w gie 99e gEI]|
@il - 11 : edia go 4g 2y IREQE dedisea gas gal 2TI0e 626w aaiiggla el

BRsGle @Eq d9les ot ﬁammqm G0 F1d5l @56‘ Gl Gl @all

1. ®al7 - 1 9e° faq - I1 gae 90 263

| ]

. @817 - 1 9e° 92i@ - [T 9aiG 909 §6%|
3. @elF - 1 90% 26T @% 92F - II 90 g6%|

4. 92e - 1909 6% @g 9217 - 11 20 263

Options :

68634020693. 1
68634020694. 2
68634020695. 3
68634020696. 4



Question Number : 74 Question Id : 6863405226 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Q76D GEIe Fee QAUNDT|
a7 - [ : 9@ 2NGHEE LOR QTER Jis e gEi|
@ela - 11 : edie ga 92 sy QUERQE daegi@cs gal gul 2TIG 6TEM asiigdia g1

Bdlohla @il gy dlisn otw 55?5]@84@ HEE F1Egl @@@ @aElol Gl @ell

1. @25 - 1 9e° @2@ - 1 ga6 A0 263

| B

. REIF - 19e° @ale - [1 g6 90 §6%|
3. @ele - 1 209 2166 @9 @84 - I 40@ g6%|

4. @815 - 1 90% g6% @g @2q - I 20 266

Options :

68634020693. 1
68634020694. 2
68634020695. 3
68634020696. 4

Question Number : 75 Question Id : 6863405227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 99, 9 6 2ARFIA FIA [ISY TG

B. 35gd @48% @07 ad 98l 908 g218a 986 27198 @20 S4eRI9g 691612 16 gL
C. @IS QITYE ARG | 2| BeeYF @283

D. 119, @56 8 912 QElea 'aijdy’ gl e

E. 9led, 91 6 6qlg a96a '05" &l e

GEIED goa GaE geny 90 9aas 526 wagl

l.emew A, B.C.D

-J

Eee@ A B.D.E

J.eaem A, B.C.E

4. 699w C.B.D.E

Options :
68634020697. 1



68634020698. 2
68634020699. 3
68634020700. 4

Question Number : 75 Question Id : 6863405227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 949, 919 6 29419 g9 K194 855!

B. 35gd @48% @07 ad 98l 908 g218a 986 27198 @20 S4eRI9g 691612 16 gL
C. RIQNE FITYe APFIAUG | 12| BRee a2as|

D. gafie. 294l 8 612 Q6 'FIdy g& 2l

E. 9led, 91 6 6alg adea '05' g4l &

GelE9 goa GaE genn 90 9aas 526 wagl

l.eae@ A.B.C.D

2

6x@@ A,B.D.E

3.eaew A,B,C,E

4699w C.B.D.E

Options :

68634020697. 1
68634020698. 2
68634020699. 3
68634020700. 4

Question Number : 75 Question Id : 6863405227 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. 949, 919 6 29419 g9 K194 855!

B. 35gd @48% @07 ad 98l 908 g218a 986 27198 @20 S4eRI9g 691612 16 gL
C. RIQNE FITY9 ARG | 12| B0696 a2as|

D. gafie. 294l 8 612 Q6 'FIdy g& 2l

E. 9194, 916 6 60lg a96a '05" gl |

Gele8 goa G99 genn 90 9eas 526 wagl

l.eae@ A.B.C.D

2

. 6@e@ A, B.D.E
J.ewew A,B,C, E

4.6299C.B.D,E

Options :

68634020697. 1
68634020698. 2
68634020699. 3
68634020700. 4

Question Number : 76 Question Id : 6863405228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 64157 658@ MAIREITINEE FISIX 690! FIRTIRIE] EJ6R|

B. 024l 69191 SoRIaE A8 1ae 486 20619, F7Y ARG, AGS-GGE A2IQY 8S6R Q4IYE SR
C. 99914 6599 g 'BIe F4 gaian|

D. 65132 638@ 2i5ig '6g9 @& gelard

E. 9@ @I99169 2Il 60194 @Qej6n 6¢. Q89S ¢J6483 FIaeId! g6

QEER QRILIRNYQ @REE A0S FAF 99 §2F 9ag|

l.ema@ A, B.C.D

-2

6949 B.C.D.E

3.69@@ A.C.D.E

4. 689 A.B.C.E

Options :

68634020701. 1
68634020702. 2
68634020703. 3



68634020704. 4

Question Number : 76 Question Id : 6863405228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 661Ge 65399 AFIRAIAIGES 2l 996! FIEaIRI ZeR

B. 0529 691191 so1Ri2le (19 @186 2@ 20649, g1 ARG, AGE-Ggd Feiay 8660 QUGS 2SRl
C. 0geld 6389 2dg "8I Al g2Ian|

D. 66l 658 2iFig '6ge 8@ eI

E. 93 Q197168 29l 62194 9926n 62, Q8! ¢J8ues RIRAIE! 2aq |

GelEe GAULIRYS FRER A0 FAF 49 525 @9g!

l.emew A, B, C.D

| S

Bee@ B.C.D,E

J.eme@ A, C,D.E

4. 699 A, B.C,E

Options :

68634020701. 1
68634020702. 2
68634020703. 3
68634020704. 4

Question Number : 76 Question Id : 6863405228 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. 66152l 6599 2FIRRLIFIREE 2181 6990 FIFaRI Z6m]

B. 0298l 69191 59912 A9 91ae 9@ 20619, 7Y ARG, Ag9-GgE A0y 8968 QYIS 26R|
C. 9awie 6598 g "Bie fgl gEian|

D. 66132 6389 2171g 's071 8@’ gRIar|

E. 9 Q197168 219l 60194 S9E6R 69, Q8T €846 RIRFIE! 26q |

QeI6R QAU IR A0R FEUR A 56 [

l.emad@ A, B.C.D

-2

6949 B.C.D.E
3.6899 A.C.D.E

4. 689 A.B.C.E

Options :

68634020701. 1
68634020702. 2
68634020703. 3
68634020704. 4

Question Number : 77 Question Id : 6863405229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gelen 652 2A619 sAUTISTFC Q@ IR, 998 § 609 6610 Kals QALY BIg AR ¥6 28R TG

. RUCISEGT, Zlienlaas! § cdledicalNg Aaga

. Q68IR 1569 6T 6298 ATGY0 Y @94 G5 9|

. caIcIgdaT @ 99eagIay aled A8 9wl g6 A1

. 6RFIRE AgaIL 69161835 6263 62 9919 98RI0R Q€6 609 @966 SRR 2ACTTINR GIFAIGIE
AITGYE 2y AIDE 98 agealdl

E. 6Uq1I945¢ Q12640 21958 8 091a 9I6e1a a9aw|

g n W

GEl6R 9o QaF geng 90w 98at 0% @9g!

l.ewaw A, B.C.D

| o]

E6ee@ A C.D.E

J.eme@@ A.B.D.E

4. 67e@B.C.D.E

Options :



68634020705. 1
68634020706. 2
68634020707 3
68634020708. 4

Question Number : 77 Question Id : 6863405229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QeeR (G2 2I6I0 SAUTISATE & I, VYR § 650 6R6BIT KeF QLU Ig AR G0 980 TG

. 6RUCIEEGT), Zlenldael § edladicalng AFga

. QESIF 1560 6RUNIEATE 6298 ATHY0 U aQd G5 9|

. 6QIFIISEGA @ aSargiay 6alad Fae 9oml §96 @1F ]

. 6RFNE AL 6aIFIFAGT 6208 69 U910 @ERIAw 46, 6UR RPI60 FEFIR AN USUIQUT
AIZGHQ 2Ty ALIDe @6 Qg

E. 651719456 212648 219g)e 8 8918 916618 a9as|

(R W v » i

Gel69 goa GeF geny 90 9aad 525 wagl

1.eme@ A,B.C.D

2

6@ A, C.D.E

3.699@ A,B.D.E

4. 699w B,C.D.E

Options :

68634020705. 1
68634020706. 2
68634020707. 3
68634020708. 4

Question Number : 77 Question Id : 6863405229 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QeeR (G2 2I6I0 SAUTISATE & I, VYR § 650 6R6BIT KeF QLU Ig AR G0 980 TG

. GRUCIEEGT), ZlenlGael § edladicalng AFga

. QETIE AIGEE ERITIAATE 6298 AITEY6 e Q4 @5 gl

. 6QIFISEGA @ aSangiay 6alad Fae 9oml §96 @1F ]

ERASE AL 6aIAIEAGT 6208 69 9918 @8RIAW €6, U8 RPIER FEFIA 26RTIAR AUSMIAUE
AIZGYQ 2y ALITE @6 Qg

E. 651719456 212848 2197 6 0918 916618 a9as|

g o o =

GEIED go8 IeF geny 90 9aas 525 wagl

l.ewee A, B.C.D

| S

Eeem A C,D.E
J.eaeR A.B.D.E

4. 699 B.C.D.E

Options :

68634020705. 1
68634020706. 2
68634020707. 3
68634020708. 4

Question Number : 78 Question Id : 6863405230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A @id@e 98 369191 21Fe f190 I8

B. 4 A21RI96 9e1R|

C. golw QIeg QUIFIa FIIFER 98T A

D. '26@865! Y2466 GI6 SIgaY GO goY - 12l 994 adq A6T6 @98
E. 'go1e I9g QaI9Iq Id96a gas aaid|

Gelea CaUIRLQ GREq A6TIP 0UYS e85 528 @agl

l.emaw A, B.C.D

| B

6892 A, C.D,E

J.ewam A.B.C.E

4. 609 A.B.D.E

Options :



68634020709. 1
68634020710. 2
68634020711. 3
68634020712. 4

Question Number : 78 Question Id : 6863405230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

.@dae 98 959191 21Fe f190 94|

. A¢)9 ALIRING 1R

. 901w [Ieg GUIRIA ISR 9T S|

| 'AETEEEI YTYEE FI6 TP T oY - 12 @94 adg AETE @98
. 'Ye1R' QI9g QUINIR FIIFEE 9a Rl

m g n W e

Gcl60 GRINIRER GRER 969IF PUR 9R90g J2T fag]

l.eaa@@ A.B.C.D

| ]

EeeR A C.D.E

3.69@@ A.B.C.E

4. 609 A.B.D.E

Options :

68634020709. 1
68634020710. 2
68634020711. 3
68634020712. 4

Question Number : 78 Question Id : 6863405230 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



.@dae 98 959191 21Fe f190 94|

. 999 ALIRIPa gelw|

. 961R RUSG QUIRIA IS TS S|

| 'AETEES| YTYES FIS TG T oY - 121 @94 adg ATE K98
.'ge1R’ AI9g QUINIA IR 9aT KA

o I o T v o e

Grea CalgIReel GaEq 69IF RAYS R 525 @agl
1.68@R A.B.C.D
2.68@R A. C.D.E
3.6899 A, B.C.E

4. 609 A.B.D.E

Options :

68634020709. 1
68634020710. 2
68634020711. 3
68634020712. 4

Question Number : 79 Question Id : 6863405231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 0d YRR IFFILR G993 "AIQY 260G SAIRIT 9l Q1 2IRe QIS 2YIFe!"

B. 2laasm 64O Sy WIQYe ¢ 6EY Qe YEel T3

C. waegas agdica dale, 2gaie 8 A8IQ1 AIea °6IF6a 0d 397 g4I

D. E‘@ﬁ‘la a@ala‘;i QAFIGE AETI@ET desl qidi|

E. QIsH3Y 49189 7168 QE6@Iaa "Poetic pleasure. Aesthetic joy. play fulness and poetic delight" 2@ Qed
196 Y9It @93

qelea QRIIBERl ARER 908 ReaT 92% Rag|

l.ewmaw A, B.C.D

| ]

6ee@ A B.C.E

J.ema@ A.C.D.E

4 6me@B.C.D.E

Options :
68634020713. 1
68634020714. 2



68634020715. 3
68634020716. 4

Question Number : 79 Question Id : 6863405231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 09 AR69 GFFIAR 925 "SIy 299 FRIZIE aal @l e I8l 2"

B. ZIQESR 6212j6 AGLq RIFIA R 629 R6U 926 K9S|

C. 905ae AgaIsa IS, AgEIs G 28191 @I9e AEATES 9d FIR 241

D. Ggaiel 9R0I8g 999199 A6TIas gasl geIan|

E. QIsUgY 9518 F1168 QE691:@ "Poetic pleasure. Aesthetic joy, play fulness and poetic delight" 2I@ Q6d
196 998 @93

QEER QRN @RER A0S 9RaT 926 Kag

l.em@R A . B.C.D

| S

. E@e@ A B.C.E

3.69@R A.C.D.E

4. 69@@ B.C.D.E

Options :

68634020713. 1
68634020714. 2
68634020715. 3
68634020716. 4

Question Number : 79 Question Id : 6863405231 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A. 99 2960 BFFIAR 28 'FIeY 290 FRIZIE 28l G 2IFe QIS Z)4Ea 1"

B. 2085w 692} Ly WY F@ 69 QEd Yl F03|

C. 90eyaw 2gdiea ale, 2AgaIe 6 Q1 AIa °6UITER 0d F97 I

D. Ggqiel 9R9I8g 99919 d65Ia gagl §eIan|

E. QIslgY 9518 F168 QE691:e "Poetic pleasure. Aesthetic joy, play fulness and poetic delight" 2I@ Qed
2155 99Ie §921

qeIE QALY IR A0F VEAT 526 wag!

l.eweR A, B.C.D

| S

Eee@ A.B.C.E
3.ewa@ A, C.D.E

4699w B.C.D.E

Options :

68634020713. 1
68634020714. 2
68634020715. 3
68634020716. 4

Question Number : 80 Question Id : 6863405232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QrIER a7 9U60 66015 QAT GRAYIDE] oIf AUAG @9 F8R AN

A. gide 6298 9I91G0IR 2GS |

B. RQ6 668R4IS 62l 6501 FedE 2Read 5ag flaw A6y 631N ged Faldim aIsal

C. 676600 Q9 6LMEIR & F1960 "qde 699RIa AL AT 3 Aleas Ua 2ide aldea aagalal”
D. PRAET (1568 9°aIa16a fde g8 @a0Ise aTIF @6 g

E. gldeia 9916081 gAede 631R 916 @8

Gel60 QRLIDER FREQ A0S LAAT 2% KA

l.ewaw A.B.C.D

| B

eee@ A B.C.E

J.ema@ A.B.D.E

4.60@9B,C,D.E

Options :



68634020717. 1
68634020718. 2
68634020719. 3
68634020720. 4

Question Number : 80 Question Id : 6863405232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QrIER QA7 9U60 66015 QAT GRAYIDE] GIf AUAT @9 F8R RS

A. glde 6208 91916916 2G5

B. 2RC0E 668048 62l 65619 S62E ZRead SRg fIak A6y 631N ged FRIin A6

C. 676000 B9 SLMETR & F1966 'glde 609aIa 21 Meeae § 2I6as Ua 21de altea daaaial”
D. PRLTE F1660 R°aIa16a flde o @adlse aTiE @4 gem

E. gldeia 99608 gRede 691 916 a@z|

QEER GEILIRYQ @RER A0S @RaT 926 Kag!

1.6 A.B.C.D

| B

L E@e@ A B.C.E

J.ema@@ A.B.D.E

4. 659@B.C.D.E

Options :

68634020717. 1
68634020718. 2
68634020719. 3
68634020720. 4

Question Number : 80 Question Id : 6863405232 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QrIER QA7 9U60 66015 QAT GRAYIDE] GIf AUAT @9 F8R RS

A. gide 6298 9I91G0IR 2GS |

B. A6 668R4IS 62l 6501 FedE 2Read 59Y fIaw AITeY 631N ged Faldin Qs

C. 676000 B9 SLMETR & F1966 'glde 609aIa 21 Meeae § 2I6as Ua 21de altea daaaial”
D. PRAET (1568 9°aIa16a fde g8 @a0Ise aTIF @6 g

E. gldeia 991608 gRege 691 916 @z

QeI6R QAP FREQ A0K FLAT 9T F9F|

l.e@eR A.B.C.D

| B

. E@e@ A B.C.E
3.emwa@@ A.B.D.E

4.6999B.C.D.E

Options :

68634020717. 1
68634020718. 2
68634020719. 3
68634020720. 4

Question Number : 81 Question Id : 6863405233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 24 G (4) aag fIg -

(@) 9a (%) 2/
et Ge I RISQING 6a6884
@8l Sl II. [Feaa4s0 Gasgy

B4 6@d DR 69 IR SIS II1. [PIeQIRI9R e84
Qee 540 Beale Qi |1V G4IRISE FEdEd

olalw|»

QTIER TAULINYF FRER A0R VAT 52 FoF|
1. A1, B-IIL, C-IV, D-II
2. A-1, B-IIL CAIIIL D-IV
3, A-III, B-1V, C-1, D-II
4. A-IIL, B-IV. C-II, D-I

Options :



68634020721. 1
68634020722. 2
68634020723. 3
68634020724. 4

Question Number : 81 Question Id : 6863405233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(%) 82 6 (3) arg deig -

(=) 9a (S) 98
ala Rolal I RieQifa sassgd
@8l Gl II. [Feaa40 Gesgy

54 66l dim 69 O §i| I11. [EeIRIe QE8ad
[nakaalagielin QIF | 1Iv [Pesien G6aa4

o

olalw]w

QEER GRILIRNYQ @RER A0 98T 926 Kag

1. A-I. B-III, C-IV. D-II

-

A-L B-II, C-III, D-IV
3. A-IT, B-IV. C-1. D-II
4. A-II1, B-IV. C-II, D-I

Options :

68634020721. 1
68634020722. 2
68634020723. 3
68634020724. 4

Question Number : 81 Question Id : 6863405233 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(%) 82 6 (3) arg deig -

(=) 9a (S) 98
wla Folal I RIeqifie sa6884
@8l Gl II. [Feaa40 Gesgy

G 66l Him 64 T S I11. PIeKIRie Qeaad
Qe g4a geale o |1V Q19w Gadad

PIRCIE

QeI6Q QPN IR A0R FLAT 9T K|

1. A-I. B-III, C-IV. D-II

-

A-L B-II, C-III, D-IV
3. A-IT, B-IV. C-1. D-II
4. A-I1. B-IV. C-II, D-I

Options :

68634020721. 1
68634020722. 2
68634020723. 3
68634020724. 4

Question Number : 82 Question Id : 6863405234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(R) 9A6Q T6aaY | (%) SR6R F68aE
A [geR I [Peod
B. [ag9g II. [Pgw
C. PIsI@ I1I. [esie
D. [oGe v [Gde

Gelen GaIYINYS FRER 0] 0A8T 526 Kag

1. A-IV, B-III. C-1. D-II

| ]

CA-IL B-IV. C-I1, D-1
3. A-L. B-11, C-IIL. D-IV
4. A-IV, B-III. C-I1, D-I
Options :

68634020725. 1
68634020726. 2



68634020727. 3
68634020728. 4

Question Number : 82 Question Id : 6863405234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(R) 9A6Q T6aaY | (%) SR6R F68aE
A [gen I |eead
B. [ag9g II. [Pgw
C. lsI@ 11 [eaia
D. [oGe v [Gde

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-IV, B-III. C-1. D-II

| ]

CA-IL B-IV. C-I1, D-1
3. A-L. B-11, C-IIL. D-IV
4. A-IV, B-III. C-I1, D-I

Options :

68634020725. 1
68634020726. 2
68634020727. 3
68634020728. 4

Question Number : 82 Question Id : 6863405234 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(%) 82 6 (3) arg deig -

(9) 9960 G6aaY | (%) 2R6R F6aad
A [gegt I [@e6e]
B. 499 II. [Pgw
C. PlsmI@ 111 [Q@ie
D. [29¢ v [Aéle

QeI6Q QaUUADLYS IR A0R FBAT 9T K|

1. A-IV. B-III. C-I1. D-II

-

CA-IL B-IV., C-I1, D-1
3. A-1. B-II. C-III, D-IV
4. A-IV, B-III. C-II, D-I

Options :

68634020725. 1
68634020726. 2
68634020727. 3
68634020728. 4

Question Number : 83 Question Id : 6863405235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) 98 (%) aa
A RIFosp e avEl gee _ smmedan| 1 |ge
B madea 20899 B63 I [Fie
C. [3654Q 695150 2l 1L |2
D. [Glgal _ 9Qia 981 J916 960 V. (92

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-I. B-IV. C-I1, D-III

| ]

CA-IV. B-1. C-III, D-II
3. A-Il, B-1, C-IIL. D-IV
4. A-IV, B-I1, C-II1, D-I
Options :

68634020729. 1
68634020730. 2



68634020731. 3
68634020732. 4

Question Number : 83 Question Id : 6863405235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) 88 (@) 84
A [iSesuceaeElge sewedaral 1 [ge
B. PIgee 20899 @63 IL. [ene
C. |asove semisa el 1L [ee
D. [eg2 __ aaia 981 Qi Q6a v |92

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-I. B-IV. C-I1, D-III

| ]

CA-IV. B-1. C-III, D-II
3. A-Il, B-1, C-IIL. D-IV
4. A-IV, B-II, C-II1, D-I

Options :

68634020729. 1
68634020730. 2
68634020731. 3
68634020732. 4

Question Number : 83 Question Id : 6863405235 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(%) 82 6 (3) arg deig -

(@) 24 (&) ga
A |Geseucc oeidgee samedaral 1 |ge
B. I daq 20 89Q 269! 1L (e
C. [asc4e eamieq 1l |oe
D. [Q4 __ 99ia 93§35 264! Iv. [ae

QeI6Q QPN IR A0R FLAT 9T K|

1. A-I. B-IV. C-II, D-III

-

CA-IV, B-1. C-III, D-II
3. A-11, B-1, C-IIL, DIV
4. A-IV, B-I1, C-III, D-I

Options :

68634020729. 1
68634020730. 2
68634020731. 3
68634020732. 4

Question Number : 84 Question Id : 6863405236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) ga (&) aa
BeoR 62Qll I (a5 egell
e afall II. |2 QUakal

PIA2IE S2lekel| 1L [21g 2Igea iIgal
QAIFIRY Q& 6211 IV. [6F6ae!

FIRICIE

Gelen GaIYINYS FRER 0] 0A8T 526 Kag

1. A-I. B-1I. C-IV, D-III

| ]

CA-TV. B-IILL. C-I1, D-1
3. A-IV, B-1, C-11. D-III
4. A-1. B-I11. C-1I, D-IV
Options :

68634020733. 1
68634020734. 2



68634020735. 3
68634020736. 4

Question Number : 84 Question Id : 6863405236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) 89a () ga
E&oR 62| I [aI6 agal
PIRT GE el I [Pl quaen

pagle seiedel| I (212 2gee SIge!l
QI Q& 6@l IV. [6F6aell

FIRICIE

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-I. B-1I. C-IV, D-III

| ]

CA-TV. B-IILL. C-I1, D-1
3. A-IV, B-1, C-11. D-III
4. A-1. B-I11. C-1I, D-IV

Options :

68634020733. 1
68634020734. 2
68634020735.3
68634020736. 4

Question Number : 84 Question Id : 6863405236 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(%) 82 6 (3) arg deig -

(@) 24 (&) g9
PlEoR 62| L oI5 agall
e Qgel | I1. |2 Quatel

PIARI cRipdel] I [21g 2Iges QI
QAIFNGY G/ 2Rl TV, [0E6R61

olalw]»

QeI6Q QaUUADLYS IR A0R FBAT 9T K|

1. A-I. B-II. C-IV, D-III

-

CA-IV, B-I1LL C-I1, D-1
3. A-TV. B-1. C-11. D-III
4. A-1, B-I1I. C-1I, D-IV

Options :

68634020733. 1
68634020734. 2
68634020735. 3
68634020736. 4

Question Number : 85 Question Id : 6863405237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) 89 (%) g1

A [QIB18G10 BReE I [2918 AEGY
B. [ga6e Qdaide 98 BGEemia agies] I |g1de a1y
C. [PSier QIgey 1L [qI9

D. [Igee 2310 IV [gieeE gde

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-IIL, B-IV. C-1. D-II

| ]

CA-IIL B-IL C-IV, D-III
3. A-IV, B-I1L. C-II, D-I
4. A-1. B-I1, C-III, D-IV
Options :

68634020737. 1
68634020738. 2



68634020739. 3
68634020740. 4

Question Number : 85 Question Id : 6863405237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) 84 (&) 8a
A [QI918610 2ReE I |[291e Q1Eey
B. 98¢ QISRIe 9§ AIEHIR agied| I |g1da Q1E6Y
C. [Poler QT6Y 11 [QI4a

D. [Pijea 931@ IV, [@iedid Qda

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-IIL, B-IV. C-1. D-II

| ]

CA-IIL B-IL C-IV, D-III
3. A-IV, B-I1L. C-II, D-I
4. A-1. B-I1, C-III, D-IV

Options :

68634020737. 1
68634020738. 2
68634020739. 3
68634020740. 4

Question Number : 85 Question Id : 6863405237 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(%) 82 6 (3) arg deig -

(9) aa (¥) 99
A [gioeein ages L |gieme agoy
B. [gasic a @9@ <2 BIRgse aqies] 1. [g1ae aey

C. legler aidey 11 [Q@e

D. [FIg]5a 2319 v, [eleed Qidq

QeI6Q QPN IR A0R FLAT 9T K|

1. A-IIIL, B-IV. C-I. D-II

-

AL B-1, C-IV, D-III
3. A-TV, B-1IL. C-I1, D-I
4. A-1, B-II. C-III, D-IV

Options :

68634020737. 1
68634020738. 2
68634020739. 3
68634020740. 4

Sub-Section Number : 2
Sub-Section Id : 686340157
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863405238 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension



Read the passage and answer the question:

6RAR G4E96 Q9 TSR AIFNg] gEY| FR8 HETE AISIERTR QaIRalead 98 K6a RIRFL AIT6Y|
PI2°QR4IGIR 2 AGRRIE BIe ARG 6201 A6] YR S1ER YISRY ALSY USRS 6219l

664 6801 Ua 6188 2°60R Ya° e AINGR IF4Id (Organic Structure) | % AL1ES G2l AGGRASIL (Style
cannot be imitated)| 6321 QI8 Fq4a 2aQl TG AP AGHES 6219 UER FIZ| 12l 6RSFA YAY 5T FRAUR!
Q8718 gisde ] fIl g 6al4d 0961 JISIgels @adlsa FIF | gRIEe 6 gaeaIRe d JRINCIEa R8I ¢
Teig Qald 8 AZegsd 2GS *5eIB ] AAERST L A. Richards - 1 - QIS (Sense). 2 - g8 (Feeling). 3 -
@15496 (Tone), 4 - @626 (Intention) FITE FIGY AEFI LAREE ZIERISH GRS 66 Y664E GBTY UOG6E
BT 07 ETlelR, SIw AR, 80 6. ARG, AU, g61R. TERE. BAR, T 8 AFA°YITE VU6 9T
60881 1 97196 AFGS (Synthesis) & 63011 1, a9ga 996 6391 AIFGIw AI9QE AGRe @aldl] 69F 69F
63r1g 6RERE 919 Gl ZRIRa A AANE 69IR @23 | 630! 6208 cRsea 2lv 6 Fea 6gadlids 2°6ws!
6381 @ g 6RSi@a J89g (Style is the man) VIS 6391 AIHERSIQ ¢@ 6219 20§ 98 IFIF| AR4SIS
Seanges AINBYY ANISE U2l 92919 241 9F H6uml AF a6 U2Ia FRedieel 2e] 6301 sRsias FIede
2E94YE CIg 2OgS SISl CIUFIEE G4 6267 IR €12 ATy TIRTIER. @5 el AISIGRYIE CIg gaTl el gIal
VA°QIAF AYS 91 ROLNFE LB, TR FUARIE 1e° 6 A 2°ADF, 8 TR 92 AEAITRE!
6319 (12Q 9F @621 12 986 RYe VAN 98, §F. 99T 9I9F POUIT 71 681 L°AITREE ARIAG SR
QaIF 631 BC68 GN1R Sl IF FIEAN, VAIRITER 6AIRFS! AR | QS I2IQ (JRRE | ATEIER AAFE AS
calEw SRITg AIFA 72 12l AID 9919 @60 Alstw ¢Eg SIdl, 99, YTA SrRIAG! 216 6REeRIHIeR QIRY
sdledy ARIe FR0IE9, @5 69918 996 ATST AR TR 6U62g 6301 AINEER. RI9 2 96 698
@9y 6907 26948 £ o8] RIS AI96a QI G5 121§ UGy 62 QS FAUIGE FIZ |

Sub questions

Question Number : 86 Question Id : 6863405239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

63016 996 9 G79 699 YELGIE ZINENS! FIF?

1. o9, Q4 aal

| ]

2 21T
3. Age9d

4. gel@

Options :

68634020741. 1
68634020742. 2
68634020743. 3
68634020744. 4



Question Number : 87 Question Id : 6863405240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"6diQlg 6°% 2106 @8I9S QIZ1" UE 02 60 F9a GRIAI9LQl RaRq AaaEdy S92 el

1. 6391 QI00E® 626m6% U2l 6REFR QNE AR GE% |

-

2. 681 g 6Qkle 2°00% 18° AAFR IFYIdl U2l ERSIR 9988 9l
3. 6391 BIg@RdIC 62ENEY YEAHR SRERE QUSEA Gr Bal

4. 6891 ERSIRR F1R. 2, FQ E‘QE‘!QIE]EP d°eme Gl gulaw ?léﬂﬁ 204, g0 L9l F29! 2GS FTRI
Options :
68634020745. 1
68634020746. 2
68634020747. 3
68634020748. 4

Question Number : 88 Question Id : 6863405241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QICI66 @B REIF TRULINT| I 6515 (A) 96818 @ AGT (R) 6293 610 194l
9613 (A) : 6391 UIRHERGIR 72 6218 2018 98 29 GIE
@104l (R) : 4a46I6 3266 @661 AITBAY O8I @RS QI8 12| &S 62i9 aelNM|
PUEEIB RAF AFAIER F6R FAUNINYS IFF AIRT AUy A0R VA6 FAF K
1. A 2°R g8 964. Y1e° R, A 8 909 G4IsMI|
2. A¥°R 990 964, @ R. A 8 90 QI gee|
3. A 90@ 2165 @3 R 909 g6%|
4. A 90@ 6% @8 R 90@ 26T
Options :
68634020749 1
68634020750. 2
68634020751. 3

68634020752. 4

Question Number : 89 Question Id : 6863405242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QEER GEE e QANDET|

Req - I : g3 967 S0 691919, SR 998, 8% 4%, RIS, BUFl. IFle AT AANFY g cT1a 998l
Relq - II : 631@1 2ALIG 6291Q Agd AT QFF|

2U6aIS QE UGS 667 TUNDIYS Q6 FUP 9TT VA8 9T 84l

1. @85 - [ 9e° @aq - Il ga6 Q0w 26T

| S

. ReIF - 1 9e° @ae - [[ g9 A0 geg|
3. @ale - [ 909 26T @g @ae - II a0 gee!

4. 9817 - 1 A0 G6T @g @2q - II A0 26T

Options :

68634020753. 1
68634020754. 2
68634020755.3
68634020756. 4

Question Number : 90 Question Id : 6863405243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) 88 (&) ga
A [Q4@a QI I [PI9Y0 G9Ee UIQIgRIea §oa
B. [7I94 ga 1L 31 eraiaqics daigq|
C. |82, 93 992 Jeia FEL BIF| 111 [299Q FIR2a SIAgIR
D. [AI9e910 Gle g6 IV, [9594I 926 BIEeYE

Gelen GaIYINYS FRER 0] 0A8T 526 Kag

1. A-IV. B-L. C-I1I. D-II

| ]

CA-IV. B-1I1, C-1, D-III
3. A-IV, B-1, C-11. D-III
4. A-IV, B-11, C-II1, D-I

Options :

68634020757. 1
68634020758. 2
68634020759. 3
68634020760. 4



Question Id : 6863405238 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

Read the passage and answer the question:

6RER QY296 QI TSR AIFG] gEF| #R8 HETE RITIERTR RUIRlead 98 K6a RIRFL QG|
PI2°QR4IGIR 2 AGRRIE GIe ARG 6201 A6] YER S1ER YISRY LS USRS s2I9el

664 6801 Y@ 6218 Q°6I0R 1e° e AINGe @64id (Organic Structure) | %! AQ1FS G2l AGGRRENL (Style
cannot be imitated)| 6321 I8 @942 2Ql A4 ALIQ 2GHE 6219 UIES FIZ| 12 ERSFR 99EYg 95° 98Q!
Q8718 gisde] QI g 6al4E 0991 UISIgals @adlsa 61F | gRIEe 6 gaeaIRe d JRINCIEa 696 ¢
TR Qelel 8 Q]I?_EG?@E{E}I RIS 90213 | Acieme® I A. Richards - 1 - @@ (Sense). 2 - 29wQ (Feeling). 3 -
@1549% (Tone). 4 - @624 (Intention) IFITE FITY QORI LAREE ZISRISH ¥R 69 Y664E G95Y UOG6E
gR9T 07 Ealde, IR 9UR. 80 U6, ARG, VU, g6lR. GERT. AR, QuF 8 ATFA°YOF VU6 g
60831 1 A712a A6gS (Synthesis) 63911 8. A9ga ALE 69917 AIFYIw ALQT AGRS @] 60F 60T
63r1g 6RERE 919 Gl ZRIRa Fars AAE 69IR @23 | 630! 6208 casea 2iv 6 A58 6gadlide 2°ews!
6301 € g9° 6ASI@a 989 (Style is the man) 91 6391 WGHEREIR 78 6219 20§ 98 2IFIT] AUGIS
FReawer AN ALIRd el 9591R 211 g8 2608l A7 9U6R 216 GRedIeel e | 6301 eRERa AIede
2R3 CIg 9Oge BIFl CIUIFES G4 6267 IR 9121 JAIFSY 2RISR, @ 2l AISIZRYIE AIg GE%I el QIal
VITF°AIAF AYS 1 KAVVHE LG, TR FUARIF 1e° 6 §iF 2°AI9F, 8 Fu 98 ARG
6319 (12Q 9F 9621 12 926 RYe VAN 9L, §F. 99T YI9F DSUIT 71 631 L°AITAES ARIAG! SR
2acl 6391 G763 G916 931, 98 A6, VAGRIFES 649G 2eEw | AT 216 FREa | ATSIEa LAFe AT
6518% GRlclg 2R /3 UE AR 9919 K6 e 9Eg Gl 9, YFR SORIGGI Y6 EFEERIPEEE QIFY
sdlad Qe FRI6, @5 68918 J96 AITFE AR YELTasa | 62629 6301 RICEaR. ST 29 95 646
@9y 6907 26642 2 612! RIS I96a QI G| 121§ UGy 628 QS FAUIGE FIZ |

Sub questions

Question Number : 86 Question Id : 6863405239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cdn1a 926 e G7Q 699 YEUGIa NSNS FIE?

1. 9GR8, Q4 2l

-

2 2°aIae
3. AGRA4E

4. gel@



Options :

68634020741. 1
68634020742. 2
68634020743. 3
68634020744. 4

Question Number : 87 Question Id : 6863405240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"63i0lg 622 21096 AUISE FIZ1" YT 02 69 G760 GRS FEFQ FATETY 52T @

1. 6391 QISEE 6267ET U2 SREIPR Y06 Ja9w §5% |

[ E)

6891 I8 ealkle 2°G0F Ue° AIAgw @aId| Ugl enslea deas 9isael
3. 63991 2AGRRLIC 6TENET UETHR ERENA RISEE B Gl

4. 68R1 ERSIRA F1R. 2, FQ ES‘Q‘E‘!ETEIE]EP d°eme Gl gulaa ?]ﬁ'&ft?lﬁ R4, sog] ald4le F29! 2GS FTRI
Options :
68634020745. 1
68634020746. 2
68634020747. 3
68634020748. 4

Question Number : 88 Question Id : 6863405241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
@160 BT PR TN SIAUQ 515 (A) 96818 @ AGT (R) 6298 010 @194
Q613 (A) : 6391 UIRHERGIG 72 6218 2018 94 29 QI
@194l (R) : 94016 Faae 671 ATHIAY afl @89l QIR @l e 6218 a@al|
PUEaIR REF AFAIEH FR Q2ULINYT 9T AR Ag A0R 9E6 A Fal
1. A95° R g8 @4, 1G° R. A @ 908 QYIS |
2. A9°R 99T 904, @3 R. A @ 90 QUi gez|
3. A 909 26% @9 R 909 g6%|
4. A 90% g6% @3 R 90 2153
Options :
68634020749. 1

68634020750. 2
68634020751. 3



68634020752. 4

Question Number : 89 Question Id : 6863405242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QEER 98T KaF FAUIDT|
@27 - 1 : g8 IETe FI0% 69191%, Sv UR, 82 96, ARTIE. 297, 9e1F TR AATHY g 65918 99l
Felq - I1 : 6391 2IRIS 6291a Ad anIen! aEF|

BRsGle @Eq d9les ot 53?@@8{@ G0 F1d5l @@‘6‘ Gl Gl @all

1. ®al7 - 1 9e° faq - I1 gae 90 263

| ]

. @817 - 1 9e° 92i@ - [T 9aiG 909 §6%|
3. @elF - 1 90% 26T @% 92F - II 90 g6%|

4. 92e - 1909 6% @g 9217 - 11 20 263

Options :

68634020753. 1
68634020754. 2
68634020755. 3
68634020756. 4

Question Number : 90 Question Id : 6863405243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (3) gy deig -

(@) 8a (&) 28R
A, [9480 2153 I [RIYe GREe UInIgeles 999
B. [?I5Y ga 11 (A9 PAARIEE QS|
C. Jo9, 57, 9912, 9610 S8 BIo| II1. 2980 FIRA6 QIR
D. [AISF10 QIe AGF6 IV, [25941 636 BEeYa

Qe GRIRIRYQ @RER A0S AT 926 wag!

1. A-IV, B-lL. C-III. D-II

| B

CA-TV. B-I1L C-1. D-III

3. A-IV. B-1. C-1I. D-III

4. A-IV, B-11, C-III, D-I



Options :

68634020757. 1
68634020758. 2
68634020759. 3
68634020760. 4

Question Id : 6863405238 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (86 to 90)
Question Label : Comprehension

Read the passage and answer the question:

6R99 BT QI ATSIQ ANG G621 FR9 YIS NFICITR QUIBAIFS 98 6 RPN AT
B2°gRd9Ig 72 AIGRFIR GIe AFRe 62l A6] 1260 SYEa IeRY 2edy AaREe sapal|

604 6901 Y@ 61186 Q°6I0R 1e° e AINGe 964ia (Organic Structure) | €1 AIAS G2l AGGRENL (Style
cannot be imitated)| 63R1 QUG F54I2 2121QI FUL ARIG AGHE 621F WER FIF| 2| 6RFFA YEG IO FFEQ!
Qo9 gidel eIt g 6eldd aeRlg QIdgals *adlsa FIZ] gRAIEe 6 gA°edIRe J JTINcIEa 6RSiE ¢
T@Qg gelel @ E]IEEG?@GE] Zaeie fa2lIE| anlemnies L A. Richards - 1 - @19 (Sense). 2 - 2g@e (Feeling). 3 -
@199 (Tone). 4 - 2629 (Intention) ACIFTE FIY QSR FPANEA ZICAISH] FAEE| 69 Y6L4H @Y UGG6E
Fade 907 6al6R. A7 AR, 80 €6, ARIS, A, gole. GeRT. AR, QUF § ATI°AAG 9969 gag
ceagd| 1 97129 2aga (Synthesis) T 63911 €. 9aga 996 6391g AAYIE AQE UG S| 697 65F
68IR1g EMSIRR AR QU YRR r;léﬂa PIEPYE 6917 @26 | 6891 6268 RTEITa i) B Ara 6edIte A°6RT |
6801 @ 99° 6RSIRa ORSE (Style is the man) @19 6991 VIGHRSSIR 2 6218 20IQ 98 2IFIZ| deNSIa
FRaAz6r AR aFIad el 93419 21 §F 2608l fIF @d6a 26 GRadieel 2R | 6301 eAsea FIede
2IEeYe FIgl 9Uge WISl FIIFSS 948 626R QiR 612 gAIFeY 62IRTISe. @5 2l SIS FIg g7 gl QIAl
VI AITE ARYS 21 YTAART IS, IRIQ FAARIT Ue° 6I'Q ghie L°AAR, 8y T AT 6K
6AR1R F12Q 9F V60 12 926 RS WAIR I8, QE. YT 9T RSYI@ 71 681 2°AITAER ARING KREIN|
2af 6391 G763 G916 931, 98 AVEN. VAIRITES 6SIFFEI AT | QIS 216 FJFNRI TSR LGS ATB
calew AuIeg AN 86 U2l 20 9919 @66 2isre 9ag 91, 99, YF8 eARIaG! 76 6REeRIHsR QIRY
sdladl ARIe FACIE. @3 6591 90 LTS AR TR 6U6TP 6301 WILEER. AT G K4 606
@19y 65641 2848 B S18! 1RIS VAER QUG FFY| 121G TUGY 698 QUG FAASE FIT|

Sub questions
Question Number : 86 Question Id : 6863405239 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



63016 996 P G79 698 YELGIS ZINENS! FIF?

1. o9, Q4 aal

| ]

B 219G
3. Age9d

4. gelw

Options :

68634020741. 1
68634020742. 2
68634020743. 3
68634020744. 4

Question Number : 87 Question Id : 6863405240 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"6diQlg 6°% 2106 @8I9S QIZ1" UE 02 60 F9a GRIAI9LQl RaRq AaaEdy S92 el

1. 6391 QI00E® 626m6% U2l 6REFR QNE AR GE% |

[ E)

6891 e eQle 2°906 \I8° AINgw A5YId] 2l sRSiTa g9as gisaal
3. 6391 BIg@RdIC 62ENEY YEAHR SRERE QUSEA Gr Bal

4. 6891 ERSIRR F1R. 2, FQ E‘QG‘!QIE]‘E-P d°eme Gl gulaw q@ﬂﬁ 204, g0 L9l F29! 2GS FTRI

Options :

68634020745. 1
68634020746. 2
68634020747. 3
68634020748. 4

Question Number : 88 Question Id : 6863405241 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QIEI6R GOT RER CALIDE| SO 6015 (A) §6@IB @ A4S (R) 620F 010 1o
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#1841 (R) : 994010 398 9671 ATEYY O @RS QIR 2l e 62IR aFaiN|
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. A@°R Q@G 964, @3 R. A @ 909 QYIS g6 |
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Options :

68634020749 1

68634020750. 2

68634020751. 3

68634020752. 4

Question Number : 89 Question Id : 6863405242 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
QTR GEE eF TAUADT|
@eq - 1 : g2 AET6 108 6T6R, dw 9on, 82 96, ARFIR. @95, 991w ATa AANFA g cdn1a egal
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Options :

68634020753. 1
68634020754. 2
68634020755. 3
68634020756. 4



Question Number : 90 Question Id : 6863405243 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (3) gy deig -

(@) ea (e 8a
A 480 QIEsy I [FI9Y9 GQRE MIQIgRIen 995
B. [7I94 & I 31 2206168 AL
C. [92, 57, 99I°, 9916 S8R BIF| 111 2996 AIR9e QI9ge1
D. [AIS51R QI AgFE IV [Re9dl 680 2843

Qe GRIRIRYQ @RER A0S AT 926 wag!

1. A-IV, B-lL. C-III. D-II
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Options :

68634020757. 1
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68634020759. 3
68634020760. 4

Sub-Section Number : 3
Sub-Section Id : 686340158
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863405244 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



Read the passage and answer the question:

QR 19 608 AAAER EREFT HTER, 62 ANNER A°YE WIBIA FATH AFG TIREYR | KOG AIFYISAITRE! R
@6 2°YE ATSY ISIed ISIR10IQ U8ed 99101 Udis 9R59 918 69469 RUR1E sTIREIRI T AFIL FIIES.,
(33919 PLAFISId. FA6RQ, AIUE, RFAIF dsfe, ATYXE, AR 919, 6TILEFISIAY, YRR ALITIS, FRIa
dig. GaIaa fig. 996eal ATITIE. Ggald FEalF gLS A°%e ARG A1g AT FH6E gRIa A 8
ATSIGE QIS LGP 6TRARYER | INIFTR AR RIFEE BI6Isa A°GE ATSHE 98 IRIT ARS CTRYRI1 IE
TGiegAIea BE2 QIS B AEH Ues FIZIR & IF FeRll 98° G TEGIEE 1glg 216 gaa caggen 1e°
g4l 2Qgen| 996 SIGIse AFEE 6 6x16d g8 GL6 gae 6208l (68l fI8l 95 332 6Rsa @ AI0FAIRE
93 F6RIRIe NE gIF1E QISIa JIf 6RIT @699 57168 fId gge @aaIfgmll 2°9e AIFeia 9o aald G
632 AZGIR Sarl ghn - YEUE e IFEG6e Aae QId FLINIRG Aol @6 646 669896 9ede @6R. GIF
(632 ATSIR PETIF60 QUITNGH RTE 6219 Ea

a0 geq 652 aigisa sa16d clds Atie fadae a1 1 adis ARRIF| Aed S61916 298°d RINIER 63T
agEel de ke QA 660 ediaIERIgRY 362 QINIER 2IF 996! BIET g2d fAIdITgsn 6% 1Tig aade
(G2l I8l @lse QIRIa faldin @ al6al el 4Fein dgeee (6 2aHIaY 9ae aIFl fd GaYIsIERIa AUSIOIg GRS
Q8 KGR FIZ] gaa ASsg 467 AIRRIF JIRIRIR Q96! Q16T Y24 RRIKIRIRI FIRIASIGR 219YE AT
SOy Cige 'gequIFy'a Tl A¢d Q6 A°4e FI9Y gRITE ISl eal° el f1aseees GRININTIST 62
derie 0dis 332 QIFIsa 6916E 6C1Re g G50 6218 FEQIQ ARl 6208t aidsa 352 AT AIGRT

AGRIT Yog SIEI QISR 2°YE § gIge ATl AR G2IQ FRgeR| U4 AR AT 352 aial 6399
2192i6a 2l 691918 (58 9aa 2°4E 6 9196 SIF QI gRIae 6298iqll @1adl T cdaeaisa BGa a1gl giIge
QB AGACR @FG 62agRl ¢ AFTHE A°YE I, 6ae 9w 6 g 9r 6 98 632 9ea e gea ATgD
cegQlg F69 el AZINIESSE |

Sub questions

Question Number : 91 Question Id : 6863405245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Alag! Q9T AT ASFIYIQ 6960IE asel ade s2ia 2F1 12l Aug pR 9aad Qg

1. 2°9% ATHFIQTEIE QG QIS gl

-J

. Glgl AT AeFIgeR SAITNFRIA AUTIOIR &R Feal]
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4. dioRle deeles G@ﬁal SIAl 6591Q 2R Elml |

Options :
68634020761. 1
68634020762. 2



68634020763. 3
68634020764. 4

Question Number : 92 Question Id : 6863405246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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RUEAIB KR AFAER F6R FAULINYF TR AT TG FOR VAR AR F9
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2. A¥G°R 99IC 964, @3 R. A @ 20@ QuIg gee|
3. A 90 2168 @3 R @09 g6g|
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Options :
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Question Number : 93 Question Id : 6863405247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 94 Question Id : 6863405248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 95 Question Id : 6863405249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 6863405244 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



Read the passage and answer the question:

QR 19 608 AAAER EREFT HTER, 62 ANNER A°YE WIBIA FATH AFG TIREYR | KOG AIFYISAITRE! R
@6 2°YE ATSY ISIed ISIR10IQ U8ed 99101 Udis 9R59 918 69469 RUR1E sTIREIRI T AFIL FIIES.,
(33919 PLAFISId. FA6RQ, AIUE, RFAIF dsfe, ATYXE, AR 919, 6TILEFISIAY, YRR ALITIS, FRIa
dig. GaIaa fig. 996eal ATITIE. Ggald FEalF gLS A°%e ARG A1g AT FH6E gRIa A 8
ATSIGE QIS LGP 6TRARYER | INIFTR AR RIFEE BI6Isa A°GE ATSHE 98 IRIT ARS CTRYRI1 IE
TGiegAIea BE2 QIS B AEH Ues FIZIR & IF FeRll 98° G TEGIEE 1glg 216 gaa caggen 1e°
g4l 2Qgen| 996 SIGIse AFEE 6 6x16d g8 GL6 gae 6208l (68l fI8l 95 332 6Rsa @ AI0FAIRE
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QB AGACR @FG 62agRl ¢ AFTHE A°YE I, 6ae 9w 6 g 9r 6 98 632 9ea e gea ATgD
cegQlg F69 el AZINIESSE |

Sub questions

Question Number : 91 Question Id : 6863405245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Alag! Q9T AT ASFIYIQ 6960IE asel ade s2ia 2F1 12l Aug pR 9aad Qg
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Options :
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68634020763. 3
68634020764. 4

Question Number : 92 Question Id : 6863405246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020765. 1

68634020766. 2
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Question Number : 93 Question Id : 6863405247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 94 Question Id : 6863405248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 95 Question Id : 6863405249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634020777. 1
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Question Id : 6863405244 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (91 to 95)
Question Label : Comprehension



Read the passage and answer the question:

QR 19 608 AAAER EREFT HTER, 62 ANNER A°YE WIBIA FATH AFG TIREYR | KOG AIFYISAITRE! R
@6 2°YE ATSY ISIed ISIR10IQ U8ed 99101 Udis 9R59 918 69469 RUR1E sTIREIRI T AFIL FIIES.,
(33919 PLAFISId. FA6RQ, AIUE, RFAIF dsfe, ATYXE, AR 919, 6TILEFISIAY, YRR ALITIS, FRIa
dig. GaIaa fig. 996eal ATITIE. Ggald FEalF gLS A°%e ARG A1g AT FH6E gRIa A 8
ATSIGE QIS LGP 6TRARYER | INIFTR AR RIFEE BI6Isa A°GE ATSHE 98 IRIT ARS CTRYRI1 IE
TGiegAIea BE2 QIS B AEH Ues FIZIR & IF FeRll 98° G TEGIEE 1glg 216 gaa caggen 1e°
g4l 2Qgen| 996 SIGIse AFEE 6 6x16d g8 GL6 gae 6208l (68l fI8l 95 332 6Rsa @ AI0FAIRE
93 F6RIRIe NE gIF1E QISIa JIf 6RIT @699 57168 fId gge @aaIfgmll 2°9e AIFeia 9o aald G
632 AZGIR Sarl ghn - YEUE e IFEG6e Aae QId FLINIRG Aol @6 646 669896 9ede @6R. GIF
(632 ATSIR PETIF60 QUITNGH RTE 6219 Ea

a0 geq 652 aigisa sa16d clds Atie fadae a1 1 adis ARRIF| Aed S61916 298°d RINIER 63T
agEel de ke QA 660 ediaIERIgRY 362 QINIER 2IF 996! BIET g2d fAIdITgsn 6% 1Tig aade
(G2l I8l @lse QIRIa faldin @ al6al el 4Fein dgeee (6 2aHIaY 9ae aIFl fd GaYIsIERIa AUSIOIg GRS
Q8 KGR FIZ] gaa ASsg 467 AIRRIF JIRIRIR Q96! Q16T Y24 RRIKIRIRI FIRIASIGR 219YE AT
SOy Cige 'gequIFy'a Tl A¢d Q6 A°4e FI9Y gRITE ISl eal° el f1aseees GRININTIST 62
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cegQlg F69 el AZINIESSE |

Sub questions

Question Number : 91 Question Id : 6863405245 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 92 Question Id : 6863405246 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 93 Question Id : 6863405247 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634020771. 3
68634020772. 4

Question Number : 94 Question Id : 6863405248 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GEIER 9RT *a@ QAUADT|

@ela - 1 : el Fig. Geiea g 8 Fgalel Gale 2IF ges 9°90 AITHRE 652 U 26w 6266 IR
(332 ao9lg 7Y AIRER 6@YZeR|

Qae - 11 : Qg glal 3321 aideva oar gae ceslidia gIoTe 62 aIaia JaIg 6RO @a6eel Fa6s aid 9ge
REem|

Bdlohle @il dpdlen otw aEliE]IEJEJ'E‘I HED F1Eg @@@ BaElol Gl @ell

1. @al - 149e° @2l - IT g9 90 26T

| ]

. REIF - 19e° @2le - [T 96 90 g6%|
3. @ele - 1 20 2166 @9 @4 - 11 0@ g6%|

4. @815 - 1 0@ G6% @g @2q - I 20 263

Options :
68634020773. 1
68634020774 2



68634020775.3
68634020776. 4

Question Number : 95 Question Id : 6863405249 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (9) 2ag 918 -

(@) aa (%) 99
A [aiesis gdg L lalesis 060 segelg 601
B. [o@2I 2de 2G5y Gedaa atie | 11 jeras 2I30Ya 0af @014 6 BERI AITRYE 908 gR0 SIReAll
C. [AIeR] QI9E AYIRIAE G196 101 [pRIe1e 632, 2°98 ¢ gIgh S| gItl gIas 62a¢gall
D. [diem @I F2IRIas 990 aisesq]| v [[Fadesl gede of afEl adoun aFeIden 9diaqsa f09E 69102IE|

Gelen GaIYINYS FRER 0] 08T 526 Kag!

1. A-I, B-III, C-II, D-IV

| ]

CA-IIL B-1, C-IV, D-II
3. A-IIL B-1I. C-IV, D-I
4. A-II1. B-IV. C-I. D-II

Options :

68634020777. 1
68634020778. 2
68634020779. 3
68634020780. 4

Sub-Section Number : 4
Sub-Section Id : 686340159
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 6863405250 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)

Question Label : Comprehension



Read the passage and answer the question:

LEQ FAE GIC6E 68 SOREr GGZ6R SIFE 68 ISl 6R6E Gl g BIMIST 65HIA T16 6l §a U8 sITem
JREPEFINIRE0 ZRIR AIRSLEIG QUERIS fREIEa]

3G 9 G2 STUGHT FRICERT 9F ARN 6LIRCAIE LIAIR ALING! 6R6eF T6aE Mada audy F 9R aateldyl

299 A9F8g SASIE §EaI PMe OF ALIRETER| F18 JIged RSNIS 92e RU91e T9g 2ig 21g SIF ATFE FRIESER
g 6@ - "&4 ? qaCe aIes 7"

QMNT Q89 CT6R GIF - 486 9RE Gmial 99 Ty 99° QUIYNITES 69 F6r ACURFE YR AFSIFT VTER IFAUTH 9 gF
RS2IE

"G HIOR ? R9IQ CRRR! QIEE 2" aYRFIRE JHNIE Y26 Y05 9e6R agfEn, a0t caed 2RNIa G66 Gl 5a 8
@6d RINNG FTg6a Q628 SIRARIG RIFEIS AN AN6S ATER|

QM9 99 99 96 9RI6d 9A9e JTRTAIR QU6 Bl OF 2IRY IRIRsRI A% IR F UIRTISR 699 TIQRYSR -
CRYZER BIRIG ZINLCE Y@ g8 AOR IS - 6a7I6R '2ga 6 'gela’ 69IR @F 4 geiasal

HEEGE U WEREE 65 FEdRES. SR ZEm FIE WEEl - RIRIEF6 2l gul ange Fj_‘ét‘-. PUED g2l dRIRGIE 2RIt
HERTIET CHEEYE 26 QUARYY ?]J_EE'IGRI QMG 8 215U GI@G‘I'@_ 2198 269 960 diR 697IRE SRTIEN EIa 6emll

QUYAITES I9F UG STIRGEA ARINSEE ST AAFR 628 FAFE NS HTARR FIE| TI6 KT AL FA A 2,
QeI Boaca 996 2M cAlaquas 2E6aIC FMOR 98 6Rgeeql 22 GaITN QI 6AITN RIRER AR TR

£56%, QUREE 265 ARL 26T, EHEEERER R BF Tr adig FMNe oe 98| 519 918 Y6956 RHTIRE el
Igeql 969 SERENR 62-AIRg GER ARG AT AR EI6PERER FYR T8 FNeI

Sub questions

Question Number : 96 Question Id : 6863405251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"R 62-RIRG 2GR ARG AL BF FIR" IE U geAIa oI 1F /417

1. gdly 2IP2ea 6AT6 gos AU gRISLIR 629N, FMq O ca@aiel SALIRAIRE JAN6S JaIg gaIe
2eaRelE|

2. @INQ 99 Y0966 AR 2N @Rl
3. GNSG 9IS 6991 4@ 6615 604l

4, Q096 986 F1MY HIY YD AIE FeeR

Options :

68634020781. 1
68634020782. 2
68634020783. 3
68634020784. 4



Question Number : 97 Question Id : 6863405252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gren GRIARYQ 696 KEGT 2AGEER AGQY F6L?

1. ghew gele Aigraids gl adldee|

[ S

. 998 QERIRT SRIGE AIRAT 626 2506 691N 6RER PETE FaRIgS |
3. QI9l QYIDIBE AN 0RGER ACHR §T AZERI|

4. I69Q gOIa CaRsa 91 8 gas IaI0 Aa96a ga aIggem
Options :
68634020785. 1
68634020786. 2
68634020787. 3
68634020788. 4

Question Number : 98 Question Id : 6863405253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Q60 GEI6 R2e FAISET| SIFHQ 661G gewla (A) 1e° 2R (R) 618 KIS
Q6GIE (A) : DYRAIRE RIASIER §F 2P OFAIQ CACIER 696699 98a QUL 997 GBS
@194 (R) : 627167 '2ga’ @ 'g2IQ 631 @8 & gellasal
RUERIB FEF AFAIER F6R F2ULINYT TR AT I AOR VAR FAR F
1. A95° R G96 @64, Ya° R, A @ 909 QUS|
2. A¥G°R 990 964, @3 R. A @ 209 QI gee|
3. A 90 2168 @3 R 909 g6%|
4. A 90 6% @g R 90 Z6S|
Options :
68634020789. 1
68634020790. 2
68634020791 3

68634020792. 4

Question Number : 99 Question Id : 6863405254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 9619i6 8 FreE Adw 3°2 G ¢)8 @8 go1e 6208

B. 5% 2IRae 80816 G96a J9Ig 419 8 2IaIE 9918 19 ARG GIE UGS 6959lg A
C. 9o1ge J9de eaIg Tgaries F1Ne 9a9g &4 G8a

D. a4ell 9NQ 9ge AIfe 929 JF9e KasIsa 8216 gsm|

E. 69 Q71969 S5 JE6Q 22 968918 AFIS! & 6RIRT ISR FI68 SQITISER |

2691092 9R085g 52 F9g|

l.ead@@ A.B.C.E

| ]

.B9e@ A B.C.D
3. ewe@@ A.B.D.E

4. 699@B.C.D.E

Options :

68634020793. 1
68634020794. 2
68634020795. 3
68634020796. 4

Question Number : 100 Question Id : 6863405255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 24 G (8) gag 913 -

(@) 2a (%) 28

A [p1e 096 5950 QIF I |90 i 0960 SRR 6264l

B. [A1G 6 2161 9@ ARG A59F @Fal 969 11 (AR SIRERE

C. [ags gera 111 2669015 se189, salgl oadg sa1g gida geall
D. [A&aig IV, [2104 69 QE4ICIR Q19 99T F986R

GeIEe GRS IR A0F VAT 526 wagl
1. A-L B-IV, C-IIL, D-II
2. A1, B-1, C-TV. D-II
3. A-I, B-IV. C-II, D-III
4. A-TV. B-I, C-II, D-IIT
Options :
68634020797. 1

68634020798. 2
68634020799. 3



68634020800. 4

Question Id : 6863405250 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension

Read the passage and answer the question:

LHG RS GEES 69 LG REZER SIFT 649 HIRE 6R6T PRI FRg AIRISE 698 219 81 7R 9% SIFeR
JoEgerefiowa 2Ne ARICLsq QOIS aoRIER

3z 4 c2N 9RO ARICORY 9F 920 cTIRFAIE TIQIQ ATIAG! 6A6eR B6AY ¥aYa QI BF aR 2adeid]

2G5 S FASIE gERI1 FNS OF RNIBETER| SI8 TIIRd fSikIcl 92e Raie ToQ Big B1g I AT RRIERER
g4 F6m - "@9 ? gaIse Qe 7"

QMG Q00 6T6R FIE - AT6 99 GolEl 99 Ty 99° QUINITER 69 F6a ACUUGS 2R 2SR NI ISR 9 9F
RGRIgE!

"5 HIRR ? 2919 CRARI QIEE 2" GYRFIRR CUDIS 929 Y05 9969 aFIRER, T8 c90F 2R G669 @6 99 8
@68 Qloig GRgea AR SIRAQIg RIPETRl canIRE AR TR

QMG 9% 99 (96 99168 9Nd@ JNgRTIIe AUeq Bl OF G URIRERI ATE GIF (F TYIAIER 69Y TIQRIYCR -
ERYER 2P INLEE IR gR AR IS - IFIER 'TGY’ B 'GLIN’ 6QIR *F 94 geimsal

TR0 FElH YER60 6E FldRea gaalia 2em FIg @64 - DITIFA Jml Sl arge 'FJ?J AHED 2l dRIEaT SRl
IYRFIER CETTR 92 QLReT YET6RI SME 8 219 SIRRIg 2I9E 5S! U6 AR AR SREEISS QBIS 6TRII

QUYAITES I0F WG CTRGEA ARINEEE ST ANRIH 628 Fga SI6e SEARAT FIE| TI6 KT QAR 90 I 2,
QIgl RQEER $96 219 cARRUas 2GS QMNeF 98 6aseRl 22 6ol 81 6AIT QIRAR A TIRRY]

6669, RUREa 269 AFIE 26T, 6I6TERER §B 8F OF adig PMe IRIa 998l 519 2IR1e @6gasa afiviaw oGl
a952Q 9041 AEHEHIR 69-RAIBT BTSSR RGOS FIREN BF 6966696k Fga TA8 1Ml

Sub questions
Question Number : 96 Question Id : 6863405251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



"QFRSIR 62-RING ZICEa RIS ALETH aF FIR" UE Ul gegies oI6a ¢IFl @817

1. galy 2GIea 6AF6 g% AU YRIGEIR 621NN, FNG O saFanel SAIRAIRE AFIN6E JaIge gaIe
2ca92lz|

2. @G 99 009668 ACIF SRS FRelT
3. @NSG 9IS 699l 499! 6IG-] 6Tl

4, 9096 9@e F1Me §19 SRIe A4 FeER|

Options :

68634020781. 1
68634020782. 2
68634020783. 3
68634020784. 4

Question Number : 97 Question Id : 6863405252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gren GRIARYQ 696 KEGT 2AGEER AGQY F6L?

1. ghew gele Aigraids gl adldee|

[ S

. 998 QERIRT SRIGE AIRAT 626 2506 691N 6RER PETE FaRIgS |
3. QI9l QYIDIBE AN 0RGER ACHR §T AZERI|

4. 609Q ol Yae6a Y1 8 9@ IR0 Fagea ga aIggsal

Options :

68634020785. 1
68634020786. 2
68634020787. 3
68634020788. 4

Question Number : 98 Question Id : 6863405253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



QTER GEe K2F IS ST 661G GegIa (A) 18° 27T (R) 616 KISl

G6G1E (A) : DYRFIRE BINUFIGIER §F 2R OEFIQ 6ACSH 66899 ARE QI2I 99 GETISR
F194l (R) : 626167 '299 @ 'g2I0 6917 @@ I8 griasq !

QU6AIB QYR AGAER G6R QLU TE AT FRIQ J0R S66 CUF @Rl

1. A9G° R 955 Q4. 9G° R, A @ Q0% QIS |

-

. A@°R Q@G 964, @3 R. A @ 909 QYIS g6 |
3. A 90@ 265 @3 R 909 g6g|
4. A 90@ 6% @g R 90@ 26e|

Options :

68634020789. 1
68634020790. 2
68634020791. 3
68634020792. 4

Question Number : 99 Question Id : 6863405254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. 961914 8 eIMeE d¢ta 3°2 G €8 9F goIe 6298

B. % 2IgPla 20916 @08a geig 149 8 1eie 9918 e ARIgEl @18l 2Ig6 6asalq fAgeqll
C. 99Ige J9d3 6aIg Tgasies GINe 9a9g &3 cem

D. aq4ell fiNQ 9ge AIeE 989 J89e Kaslsa 3a1e gsml

E. 69 AF169 S50 E6Q 22l 0589918 AF6| &9 SRR 924191 FER SIS |

A6RI0YR 9R0EY F2% Fag|

l.eaew A, B.C,E

[ )

6%@@ A.B.C.D

.69 A, B.D. E

4. 699@B.C.D.E

Options :

68634020793. 1
68634020794. 2
68634020795. 3
68634020796. 4



Question Number : 100 Question Id : 6863405255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 22 6 (3) gy deig -

(@) 24 () 29

A |PNG 296 6060 GIF L [F996 g9 Qa0 SI5E1R 6255

B. [¢haS 6 2161 Q80 FIRG BG9N 08l d6e] I AR SIREEEN

C. lags gere 111 [251630159 65184, 5QI91 Gadg 66191 9ida gesil
D. [feiag V. [P0 69 QEISICIS QIS J9E Qg6

GeIEe GRS IR A0F VAT 526 wagl

1. A-I. B-IV., C-III, D-II

| B

CA-ITL B-LL C-IV. D-III
3. A-L. B-IV. C-11. D-III
4. A-IV, B-1. C-II. D-III

Options :

68634020797. 1
68634020798. 2
68634020799. 3
68634020800. 4

Question Id : 6863405250 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (96 to 100)
Question Label : Comprehension



Read the passage and answer the question:

LEQ FAE GIC6E 68 SOREr GGZ6R SIFE 68 ISl 6R6E Gl g BIMIST 65HIA T16 6l §a U8 sITem
JREPEFINIRE0 ZRIR AIRSLEIG QUERIS fREIEa]

3G 9 G2 STUGHT FRICERT 9F ARN 6LIRCAIE LIAIR ALING! 6R6eF T6aE Mada audy F 9R aateldyl

299 A9F8g SASIE §EaI PMe OF ALIRETER| F18 JIged RSNIS 92e RU91e T9g 2ig 21g SIF ATFE FRIESER
g 6@ - "&4 ? qaCe aIes 7"

QMNT Q89 CT6R GIF - 486 9RE Gmial 99 Ty 99° QUIYNITES 69 F6r ACURFE YR AFSIFT VTER IFAUTH 9 gF
RS2IE

"G HIOR ? R9IQ CRRR! QIEE 2" aYRFIRE JHNIE Y26 Y05 9e6R agfEn, a0t caed 2RNIa G66 Gl 5a 8
@6d RINNG FTg6a Q628 SIRARIG RIFEIS AN AN6S ATER|

QM9 99 99 96 9RI6d 9A9e JTRTAIR QU6 Bl OF 2IRY IRIRsRI A% IR F UIRTISR 699 TIQRYSR -
CRYZER BIRIG ZINLCE Y@ g8 AOR IS - 6a7I6R '2ga 6 'gela’ 69IR @F 4 geiasal

HEEGE U WEREE 65 FEdRES. SR ZEm FIE WEEl - RIRIEF6 2l gul ange Fj_‘ét‘-. PUED g2l dRIRGIE 2RIt
HERTIET CHEEYE 26 QUARYY ?]J_EE'IGRI QMG 8 215U GI@G‘I'@_ 2198 269 960 diR 697IRE SRTIEN EIa 6emll

QUYAITES I9F UG STIRGEA ARINSEE ST AAFR 628 FAFE NS HTARR FIE| TI6 KT AL FA A 2,
QeI Boaca 996 2M cAlaquas 2E6aIC FMOR 98 6Rgeeql 22 GaITN QI 6AITN RIRER AR TR

£56%, QUREE 265 ARL 26T, EHEEERER R BF Tr adig FMNe oe 98| 519 918 Y6956 RHTIRE el
Igeql 969 SERENR 62-AIRg GER ARG AT AR EI6PERER FYR T8 FNeI

Sub questions

Question Number : 96 Question Id : 6863405251 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"R 62-RIRG 2GR ARG AL BF FIR" IE U geAIa oI 1F /417

1. gdly 2IP2ea 6AT6 gos AU gRISLIR 629N, FMq O ca@aiel SALIRAIRE JAN6S JaIg gaIe
2ca92lE|

2. @INQ 99 C6aGee ACE 2N @RelE]
3. GGG 9IS 6991 9@ 661G 6Tl

4, QREG 986 7MY HIY YAD A FeeR|

Options :

68634020781. 1
68634020782. 2
68634020783. 3
68634020784. 4



Question Number : 97 Question Id : 6863405252 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gren GRIARYQ 696 KEGT 2AGEER AGQY F6L?

1. ghew gele Aigraids gl adldee|

[ S

. 998 QERIRT SRIGE AIRAT 626 2506 691N 6RER PETE FaRIgS |
3. QI9l QYIDIBE AN 0RGER ACHR §T AZERI|

4. I69Q gOIa CaRsa 91 8 gas IaI0 Aa96a ga aIggem
Options :
68634020785. 1
68634020786. 2
68634020787. 3
68634020788. 4

Question Number : 98 Question Id : 6863405253 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Q60 GEI6 R2e FAISET| SIFHQ 661G gewla (A) 1e° 2R (R) 618 KIS
Q6GIE (A) : DYRAIRE RIASIER §F 2P OFAIQ CACIER 696699 98a QUL 997 GBS
@194 (R) : 627167 '2ga’ @ 'g2IQ 631 @8 & gellasal
RUERIB FEF AFAIER F6R F2ULINYT TR AT I AOR VAR FAR F
1. A95° R G96 @64, Ya° R, A @ 909 QUS|
2. A¥G°R 990 964, @3 R. A @ 209 QI gee|
3. A 90 2168 @3 R 909 g6%|
4. A 90 6% @g R 90 Z6S|
Options :
68634020789. 1
68634020790. 2
68634020791 3

68634020792. 4

Question Number : 99 Question Id : 6863405254 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 9619i6 8 FreE Adw 3°2 G ¢)8 @8 go1e 6208

B. @7 2Ig2a 20e1e @gea gelg @1Ne G iaie 9918 e ARG SI8l 256 6agalg fAgell
C. 961ge JAde 6aIg aaasiss G1Ne 9a9g &4 s8a]

D. a4ell 9NQ 9ge AIfe 929 JF9e KasIsa 8216 gsm|

E. 69 AFI969 S50l JE6Q 22 96a9Ia A7161 &9 6NN 926191 FI6a SoIISeR |

2691092 9R085g e aag|

l.ea@@ A.B.C.E

| B

LERe@ A B.C.D
3.69@R A.B.D.E

4. 659@B.C.D.E

Options :

68634020793. 1
68634020794. 2
68634020795. 3
68634020796. 4

Question Number : 100 Question Id : 6863405255 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(@) 24 G (8) gag 913 -

(@) 2a (%) 28
A [p1e 096 5950 QIF I |90 i 0960 SRR 6264l
B. [A1G 6 2161 9@ ARG A59F @Fal 969 11 (AR SIRERE
C. [ags gera 111 2669015 se189, salgl oadg sa1g gida geall
D. [A&aig IV, [2104 69 QE4ICIR Q19 99T F986R

GeIEe GRS IR A0F VAT 526 wagl
1. A-L B-IV, C-IIL, D-II
2. A1, B-1, C-TV. D-II
3. A-I, B-IV. C-II, D-III
4. A-TV. B-I, C-II, D-IIT
Options :
68634020797. 1

68634020798. 2
68634020799. 3



68634020800. 4



